
1
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer

Innehållsförteckning med sidangivelse, kapitel: 1
Table of contents with page reference, chapter: 1

I

Kapitel: 1 / Chapter: 1

Delar till avgassystem / Exhaust fi ttings______________________________________________________________1

Reparationsfl äns / Repair fl ange____________________________________________________________________21

Rep.satser / Repair kits____________________________________________________________________________22

Monteringssatser, kompl.satser / Exhaust kits, Compl. kit_______________________________________________26

Monteringssatser, Mini-Kit för enbart CAT / Exhaust kits, Mini-Kit for CAT only_______________________________30

Monteringssatser, Mini-Kit för enbart rör och dämpare / Exhaust kits, Mini-Kit for only pipes and silencers____________31

Övriga artiklar / Other items_________________________________________________________________________35

Kapitel: 2 / Chapter: 2

Hur man tolkar kapitel: 2 / How to interpret chapter: 2__________________________________________________36

Sidangivelse för kapitel: 2 / Page reference for chapter: 2________________________________________________37

2020.06.01 -



Exhaust Fittings Volvo

0,022

Din933, Plating: Zn5C¹ (Zinc plated)

SW16-17 (8.8) Thread pitch: 1.5

Fastener (Bolt M10) Universal

Bulk

M10x20

Size and material

Weight

Pack

Ean No 7330005015208

Important information

020-5050

Walker Bosal Klarius

VOL-946329

VOL-955315

VOL-970945

83137 258886

0,030

Din933, Plating: Zn5C¹

SW16 (8.8) Thread pitch: 1.5

Fastener (Bolt+R/S washer)

Bulk

* Bolt and washers!

** Only bolt!

Bolt: M10x25, Rivet W: ø10xØ19, Spring W: ø10

Size and material

Weight

Pack

Ean No 7330005056331

Important information

025-5059 *

Walker Bosal Klarius

025-5050 **

VOL-955317

VOL-970947

0,000

Din961, Plating: Zn5C¹

SW14-17 (8.8) Thread pitch: 1.25

Fastener (Bolt+R/S washer) Universal

Bulk

* Bolt and washers, is replaced by 035-5069!

** Only bolt, is replaced by 035-5066!

Bolt: M10x30, Rivet W: ø10xØ28, Spring W: ø10

Size and material

Weight

Pack

Ean No 7330005052500

Important information

030-5069 *

Walker Bosal Klarius

030-5066 **

VOL-985490

0,018

Din6921, Plating: Zn5C¹ (Zinc plated)

SW13 (8.8) Thread pitch: 1.25

Fastener (Flange bolt M8) Universal

Bulk

M8x16

Size and material

Weight

Pack

Ean No 7330005057970

Important information

016-5044

Walker Bosal Klarius

VOL-30812002

VOL-3528069

VOL-3528070

VOL-946440

VOL-966807

VOL-969345

VOL-982793

0,026

Din6921, Plating: Zn5C¹ (Zinc plated)

SW16-17 (8.8) Thread pitch: 1.5

Fastener (Flange bolt M8) Universal

Bulk

M10x16

Size and material

Weight

Pack

Ean No 7330005058175

Important information

016-5054

Walker Bosal Klarius

VOL-946471

VOL-967410

VOL-982814

0,022

Din6921, Plating: Zn5C¹ (Zinc plated)

SW13 (8.8) Thread pitch: 1.25

Fastener (Flange bolt M8) Universal

Bulk

M8x20

Size and material

Weight

Pack

Ean No 7330005055303

Important information

020-5044

Walker Bosal Klarius

VOL-3291790

VOL-946173

VOL-984733

0,024

Din6921, Plating: Zn5C¹ (Zinc plated)

SW13 (8.8) Thread pitch: 1.25

Fastener (Flange bolt M8) Universal

Bulk

M8x25

Size and material

Weight

Pack

Ean No 7330005015277

Important information

025-5044

Walker Bosal Klarius

VOL-1275409

VOL-272460

VOL-30871858

VOL-8634354

VOL-8634355

VOL-945444

VOL-969215

VOL-980288

VOL-981024

VOL-982795

VOL-985187

0,020

Din6921, Plating: Zn5C¹ (Zinc plated)

SW13 (8.8) Thread pitch: 1.25

Fastener (Flange bolt M8) Universal

Bulk

M8x35

Size and material

Weight

Pack

Ean No 7330005015505

Important information

035-5044

Walker Bosal Klarius

VOL-946470

0,024

Din6921, Plating: Zn5C¹ (Zinc plated)

SW13 (8.8) Thread pitch: 1.25

Fastener (Flange bolt M8) Universal

Bulk

M8x50

Size and material

Weight

Pack

Ean No 7330005015895

Important information

050-5044

Walker Bosal Klarius

VOL-973924

VOL-994441

1
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,005

Din6927, Plating: Zn5C¹ (Zinc plated)

SW10 (8.8) Thread pitch: 1.0

Fastener (Flange Lock nut M6) Universal

Bulk

M6xØ14.2

Size and material

Weight

Pack

Ean No 7330005054528

Important information

000-5672

Walker Bosal Klarius

VOL-949278

0,008

Din6927, Plating: Zn5C¹ (Zinc plated)

SW13 (8.8) Thread pitch: 1.25

Fastener (Flange Lock nut M8) Universal

Bulk

M8xØ17.9

Size and material

Weight

Pack

Ean No 7330005014928

Important information

000-5692

Walker Bosal Klarius

VOL-948645

VOL-985868

0,002

Din125A, Plating: Zn5C¹ (Zinc plated)

Fastener (Flat washer 3/8) Is frequently used together with 000-5330

Bulk

Indicated weight is per unit!

ø3/8(10.5)xØ18.0x1.6

Size and material

Weight

Pack

Ean No 7330005014836

Important information

000-5470

Walker Bosal Klarius

VOL-NoOemNo45

0,003

Metal sheet: DX51D-Zn100µm (Gal/Zn)

Fastener (Flat washer M10x19) Universal

Bulk

Indicated weight is per unit!

ø10.2xØ19.0x2.0

Size and material

Weight

Pack

Ean No 7330005014812

Important information

000-5450

Walker Bosal Klarius

VOL-944633

83401 258133

0,005

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

M8

Fastener (Flat washer M8x22) Universal

Bulk

Indicated weight is per unit!

ø8.2xØ22x2.0

Size and material

Weight

Pack

Ean No 7330005015215

Important information

022-5540

Walker Bosal Klarius

VOL-960141

83406

0,006

Din980, Plating: Cu (Copper plated)

SW16-17 (8.8) Thread pitch: 1.5

Fastener (Lock nut M10) Universal

Bulk

* Will be replaced by 000-5700!

M10

Size and material

Weight

Pack

Ean No 7330005050285

Important information

000-5704 *

Walker Bosal Klarius

VOL-977210

258030

258330

0,006

Din980, Plating: Cu (Copper plated)

SW16-17 (8.8) Thread pitch: 1.25

Fastener (Lock nut M10x1.25) Universal

Bulk

* Is replaced by 000-5262!

M10

Size and material

Weight

Pack

Ean No 7330005050292

Important information

000-5714 *

Walker Bosal Klarius

VOL-270399

VOL-30873271

258056

258356

0,006

Din980, Plating: Cu (Copper plated)

SW10 (8.8) Thread pitch: 1.0

Fastener (Lock nut M6) Citroën, Fiat, Jaguar, Land Rover,

Mitsubishi, Opel, Peugeot, Renault,

Rover, VAG, Volvo

Bulk

* Will be replaced by 000-5670!

M6

Size and material

Weight

Pack

Ean No 7330005050230

Important information

000-5674 *

Walker Bosal Klarius

VOL-946035

258026

258326

0,006

Din980, Plating: Zn5C¹ (Zinc plated)

SW13 (8.8) Thread pitch: 1.25

Fastener (Lock nut M8) Universal

Bulk

M8

Size and material

Weight

Pack

Ean No 7330005014911

Important information

000-5690

Walker Bosal Klarius

VOL-977209

83318

2
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,006

ANSI-8, Plating: Zn5C¹ (Zinc plated)

SW3/8 (8.8) Thread pitch: UNC

Fastener (Nut 3/8) Volvo

Bulk

3/8 UNC

Size and material

Weight

Pack

Ean No 7330005014751

Important information

000-5330

Walker Bosal Klarius

VOL-190852

VOL-191894

83307 258051

0,010

Din934, Plating: Zn5C¹ (Zinc plated)

SW16-17 (8.8) Thread pitch: 1.5

Fastener (Nut M10) Citroën, Mazda, Saab, Volvo

Bulk

M10

Size and material

Weight

Pack

Ean No 7330005014652

Important information

000-5250

Walker Bosal Klarius

VOL-940183

111058

111113

83301

258010

258310

0,008

Din6923B, Plating: Zn5C¹ (Zinc plated)

SW16-17 (8.8) Thread pitch: 1.5

Fastener (Nut with flange M10) Universal

Bulk

M10xØ22.0

Size and material

Weight

Pack

Ean No 7330005039969

Important information

000-5252

Walker Bosal Klarius

VOL-949279

VOL-985861

0,007

Din6923, Plating: Zn5C¹ (Zinc plated)

SW13 (8.8) Thread pitch: 1.25

Fastener (Nut with flange M8) Universal

Bulk

M8xØ18

Size and material

Weight

Pack

Ean No 7330005014638

Important information

000-5242

Walker Bosal Klarius

VOL-985921

83332

0,002

Din127B, Plating: Zn5C¹ (Zinc plated)

Fastener (Split lock washer M10) Universal

Bulk

Indicated weight is per unit!

ø10.2x18.1x2.2

Size and material

Weight

Pack

Ean No 7330005014874

Important information

000-5650

Walker Bosal Klarius

VOL-941908

83413 258110

0,042

Din6921, Plating: Zn5C¹ (Zinc plated

(8.8) Thread pitch: 1.25

Fastener (Spring bolt) Volvo 850 2.0, 2.5 W/O EGR (91-97)

Bulk

M8x100.0

Size and material

Weight

Pack

Ean No 7330005039112

Important information

100-5944

Walker Bosal Klarius

VOL-976199

258889 430422

0,074

M10(1.5)xNV15 (8.8)

Fastener (Spring bolt) Fiat Duna (86-91), Fiorino (88-95),

Uno (88-91)

Opel Ascona C (81-89), Corsa A (83-93),

Frontera (92-98), Kadett D (79-84),

Kadett E (84-91), Omega A (86-94), Senator (89-93)

Vectra A (88-92)

Mitsubishi Carisma (96-00)

Volvo 440 (88-97), 460 (90-97), 480 (92-96)

Bulk

84.0xØ13.0x54.0

Size and material

Weight

Pack

Ean No 7330005016397

Important information

588-5900

Walker Bosal Klarius

VOL-3121436

VOL-3923213

83149 258895 440001

0,034

(CrIII plated)

SW10 (8.8)

Fastener (Spring bolt) Dacia Logan (03-)

Opel Movano A (98-10)

Renault Avantime (01-03), Clio I (90-98),

Laguna I (93-00), R19 (88-96), R21 (86-95)

Safrane (92-96)

Volvo S40 I (95-04), V40 (95-04)Bulk

88.5xØ11.0 (M8x12, M8x16)

Size and material

Weight

Pack

Ean No 7330005048930

Important information

865-5900

Walker Bosal Klarius

VOL-31216441

VOL-3921925

258974

0,010

Total length of 35.0

Fastener (Stud bolt) BMW, Citroën, Daewoo, Fiat, Ford,

Nissan, Opel, Renault, Rover,

Toyota, Vauxhall, VAG, Volvo

Bulk

M8x9.0(5.0)M8x21.0

Size and material

Weight

Pack

Ean No 7330005015550

Important information

035-5914

Walker Bosal Klarius

VOL-978342

258948

3
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,018

Total length of 40.0

Fastener (Stud bolt) Volvo

Bulk

3/8UNCx13.0(6.0)3/8UNCx21.0

Size and material

Weight

Pack

Ean No 7330005015697

Important information

040-5923

Walker Bosal Klarius

VOL-953259

258959

0,020

Total length of 41.0

Fastener (Stud bolt) Volvo

Bulk

M10x14.0(5.0)M10x22.0

Size and material

Weight

Pack

Ean No 7330005035220

Important information

041-5921

Walker Bosal Klarius

VOL-924077

258953

0,012

Total length of 47.0

Fastener (Stud bolt) Ford

Bulk

5/16UNCx10.0(9.0)5/16UNCx28.0

Size and material

Weight

Pack

Ean No 7330005015826

Important information

047-5916

Walker Bosal Klarius

VOL-953241

258957

0,016

Total length of 51.0

Fastener (Stud bolt) Volvo

Bulk

5/16UNCx12.0(14.0)5/16UNCx25.0

Size and material

Weight

Pack

Ean No 7330005056935

Important information

047-5916

Walker Bosal Klarius

VOL-953243

0,070

(CrIII plated)

SW17 (8.8)

Fastener (Turned rubber bolt) Volvo 160 (74), 240 (75-93)

Bulk

75.0xØ17.0 (M10x14)

Size and material

Weight

Pack

Ean No 7330005054368

Important information

892-5900

Walker Bosal Klarius

VOL-1228280

82491

0,012

Steel / Graphite / Steel

110.0x72.5x1.25-1.35

Gasket Alfa Romeo, Daihatsu,

Fiat, Ford, Hyundai,

Isuzu, Kia, Lancia,

Mazda, Mitsubishi,

Nissan, Opel, Peugeot,

Rover, Saab, Subaru,

Suzuki, Valpen

Bulk

Contains graphite and can therefore be mounted

in front or after CAT due to its heat resistance!

ø52.0  (Oval holes 2xø12.0x14.0) c-c 83.0

Size and material

Weight

Pack

Ean No 7330005006923

Important information

020-1500

Walker Bosal Klarius

VOL-1568514

80009

80010

80032

80209

81005

81030

256272

256634

256645

256789

256836

410118

410168

410290

0,012

Steel / Graphite / Steel

102.0x68.0x1.25-1.35

Gasket Alfa Romeo, BMW, Daewoo, Daihatsu,

Hyundai, Kia, Saab, Subaru,

VAG, Volvo

Bulk

Contains graphite and can therefore be mounted

in front or after CAT due to its heat resistance!

ø51.0 (Oval holes 2xø11.5x13.0) c-c 78.0

Size and material

Weight

Pack

Ean No 7330005006954

Important information

022-1500

Walker Bosal Klarius

VOL-1271480

VOL-464942

VOL-688088

80206

81053

81089

81118

81185

256213

256499

256504

256584

256854

410237

410242

0,018

Steel / Graphite / Steel

127.0x81.0x1.5

Gasket Abarth, Alfa Romeo, Fiat,

Ford, Lancia, Nissan,

Volvo 440 (88-94), 440 Turbo (88-97), 460 (89-97)

Bulk

Contains graphite and can therefore be mounted

in front or after CAT due to its heat resistance!

ø56.0 (2xø11.0) c-c 93.0»98.0

Size and material

Weight

Pack

Ean No 7330005007012

Important information

027-1500

Walker Bosal Klarius

VOL-3435238

80205

81167

256104

256535

410102

0,012

Steel / Graphite / Steel

125.0x75.0x1.25-1.5

Gasket Alfa Romeo, BLMC, Fiat, Ford, Lancia,

Mazda, MG, Rover, Renault, Volvo

Bulk

Contains graphite and can therefore be mounted

in front or after CAT due to its heat resistance!

ø59.0 (Oval holes 2xø11.5x13.0) c-c 98.5

Size and material

Weight

Pack

Ean No 7330005007098

Important information

034-1500

Walker Bosal Klarius

VOL-30813090

80034

80035

80055

80075

256034

256068

256210

410249

410279

410289

410514

4
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,014

Steel / Graphite / Steel

85.0x85.0x1.5

Gasket Citroën, Fiat, Peugeot,

VAG, Volvo

Bulk

Contains graphite and can therefore be mounted

in front or after CAT due to its heat resistance!

ø66.0 (4xø10.5) c-c 65.5

Size and material

Weight

Pack

Ean No 7330005007135

Important information

037-1520

Walker Bosal Klarius

VOL-1397228

VOL-6854724

256949 410094

410273

0,008

Steel / Graphite / Steel

92.0x67.0x1.5

Gasket Alfa Romeo Alfetta (74-85), 75 (85-93),

90 (84-88), 155 (92-96), 164 (88-96), GTV (85-87)

BMW 3 (98-07), 5 (95-10), 7 (95-01),  Z3 (96-03)

Mazda 323 (75-80), 626 (78-87),

929 II (83-87), B1800 (78-85)

Subaru Mini Jumbo (85-91), Vivio (92-00)

VW Transporter III (80-85)

Volvo Amazon (62-67), Duett (62-66),

P1800 (61-66), PV (56-66)

Wiesmann MF3 Roadster (96-02)

Bulk

Contains graphite and can therefore be mounted

in front or after CAT due to its heat resistance!

ø46.0 (2xø11.0) c-c 67.0»71.0

Size and material

Weight

Pack

Ean No 7330005036005

Important information

039-1500

Walker Bosal Klarius

VOL-1378904

VOL-403546

256107 410012

410167

0,016

Steel / Graphite / Steel

98.0x96.0x1.25-1.5

Gasket Alfa Romeo, Ford, Honda,

Hyundai, Nissan, Rover,

Saab, VAG, Volvo

Bulk

Contains graphite and can therefore be mounted

in front or after CAT due to its heat resistance!

ø60.0 (3xø12.0) c-c 3x74.5

Size and material

Weight

Pack

Ean No 7330005007166

Important information

041-1500

Walker Bosal Klarius

VOL-1378871

VOL-1378872

VOL-462808

80085

81094

81199

256395

256420

256568

410062

410251

0,018

Steel / Graphite / Steel

130.0x90.0x1.25-1.5

Gasket Ford, Mazda, Nissan,

Renault, Volvo

Bulk

Contains graphite and can therefore be mounted

in front or after CAT due to its heat resistance!

ø65.0 (2xø11.0) c-c 100.0»106.0

Size and material

Weight

Pack

Ean No 7330005040705

Important information

043-1500

Walker Bosal Klarius

VOL-3062421

VOL-30676483

VOL-30864983

VOL-866379680322

80429

80505

256096

256098

410106

410485

0,018

Steel / Graphite

137.0x104.0x1.25-1.5

Gasket Polestar, Volvo

Same gasket as 049-1500 but with

different bolt holes.

Bulk

Contains graphite and can therefore be mounted

in front or after CAT due to its heat resistance!

ø80.0 (Oval holes 2xø7.5/12.0x15.0) c-c 109.0

Size and material

Weight

Pack

Ean No 7330005058441

Important information

049-1501

Walker Bosal Klarius

VOL-31454377

0,016

Steel / Graphite / Steel

101.0x100.0x1.5

Gasket Audi 100 (83-94), A6 (94-97)

Ford Galaxy (94-06)

Seat Alhambra (96-06), Cordoba (96-99),

Ibiza (96-99), Toledo (96-97)

VW Corrado (88-95), Golf III (91-93),

Passat III (88-93), Sharan (95-06),

Transporter IV (92-95), Vento (91-93)

Volvo 850 (96-97)

Bulk

ø65.0 (3xø11.5) c-c 80.5

Size and material

Weight

Pack

Ean No 7330005036050

Important information

107-1302

Walker Bosal Klarius

VOL-1275549

80140

81144

256847

0,016

Steel / Fibre / Steel

104.0x74.0x1.25

Gasket Fiat Fullback (16-)

Hyundai Sonata II/Y-2 (88-93). Kia Joice (00-).

Mitsubishi Carisma (97-05), Galant (90-96),

Grandis/NA4W (04-11), Outlander I/CU (03-06),

Pajero II/V20 (90-00), III/V60,V6-W,V7-W (00-06),

IV/V60, V80, V90 (06-), Sport I/K70, K90 (98-),

Santamo MPV (99-04), Shogun (94-00), Sigma (91-97)

Space Runner I/N1-2 (91-99), II/N50 (99-03)

Space Star/DG-A (98-04), Space Wagon II/N3 (91-98)

Volvo S40 I/VS, 644 (98-03), V40/VW, 645 (98-04)

Bulk

ø56.0 (3xø11.5)

Size and material

Weight

Pack

Ean No 7330005036128

Important information

489-1300

Walker Bosal Klarius

VOL-30873326

80045

80074

256053

256121

410330

0,016

Steel / Graphite / Steel

135.0x82.0x1.25-1.50

Gasket Hyundai Accent (89-94), Excel (89-95),

H100 (93-02), Lantra I-II (90-00), Pony (89-95),

S-Coupe (90-96), Sonata II-III (91-98)

Mitsubishi Carisma (95-06), Colt II-IV (84-96),

Eclipse II (95-99), Galant V-VIII (84-00),

Lancer II-V (83-96), Pajero Pinin (99-01),

Sapporo (87-90), Space R. I-II (91-02), FTO (94-01

Space S. (98-05), Space W. I-III (86-04)

Proton Persona 400/C9-S (94-00)

Volvo S40 I/VS-644 (98-04), V40/VM-645 (98-04)

Bulk

2xø44.5 (3xø12.0)

Size and material

Weight

Pack

Ean No 7330005041696

Important information

572-1300

Walker Bosal Klarius

VOL-30873327

81168 256668 410086

410088

0,020

Steel / Graphite / Steel

68.0x81.0x1.5

Gasket Hyundai Lantra (90-95)

Mitsubishi Carisma (95-99), Colt (88-02),

Galant (88-92), Lancer (88-01),

Pajero (88-96), Space Star (98-00)

Proton 413 (94-95)

Volvo S40 I (96-00), V40 (96-00)Bulk

ø51.0 (3xø11.5)

Size and material

Weight

Pack

Ean No 7330005037224

Important information

574-1300

Walker Bosal Klarius

VOL-30872476

81152 256790 410087

5
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,018

Steel / Graphite / Steel

128.0x88.0x1.25-1.50

Gasket Mitsubishi Carisma (97-06), Space star (98-06)

Nissan Navarra (06-), Pathfinder (06-)

Volvo S40 (98-03), V40 (98-03)

Bulk

ø67.0 (2xø13.0) c-c 102.0

Size and material

Weight

Pack

Ean No 7330005036227

Important information

578-1300

Walker Bosal Klarius

VOL-30873399

80261 256556 410408

0,040

Steel / Graphite

96.5x95.5x1.5

Gasket Alfa Romeo, Chevrolett, Daewoo, Fiat,

Huyndai, Opel, Suzuki,

Volvo 360 (86-89)

Bulk

ø57.0 (3xø9.5) c-c 75.0

Size and material

Weight

Pack

Ean No 7330005005278

Important information

051-1500

Walker Bosal Klarius

VOL-1328695

VOL-3210477

81189 256063 410149

0,014

Steel / Fibre / Steel

104.0x62.0x1.5

Gasket Renault R12 (70-80), R15 (72-79)

Volvo 66 (75-82)

Bulk

2xø34.0 (3xø9.0)

Size and material

Weight

Pack

Ean No 7330005005551

Important information

673-1320

Walker Bosal Klarius

VOL-3104301

81052 256330 410240

0,014

Steel / Graphite / Steel

116.0x77.0x1.5

Gasket Chevrolet Kalos (02-08), Lanos (97-03),

Tacuma (00-05)

Daewoo Kalos (02-08), Lanos (97-03),

Leganza (97-03), Tacuma (00-05)

Fits on many Renault models

Volvo 440 (93-97), 460 (36-97)Bulk

ø55.0 (2xø9.5) c-c 84.0»87.5

Size and material

Weight

Pack

Ean No 7330005035152

Important information

679-1300

Walker Bosal Klarius

VOL-8432125

80063 256177 410265

0,022

Steel / Fibre / Steel

99.0x99.0x1.5

Gasket Seat Cordoba (93-99), Ibiza (93-99),

Inca (95-97), Toledo (93-99)

VW Caddy II (95-97), Golf III (91-00),

Passat III (91-96), Polo (95-97),

Transporter IV (90-95), Vento (91-98)

Volvo 440 Turbo (88-94), 460 Turbo (90-94),

480 Turbo (88-96)

Bulk

ø65.0 (4xø11.0)

Size and material

Weight

Pack

Ean No 7330005035817

Important information

717-1300

Walker Bosal Klarius

VOL-3434657

VOL-3450022

80065

80134

256430 410367

0,020

Steel / Graphite / Steel

112.0x110.0x1.25

Gasket Audi A4 (95-01), A6 (97-01)

Rover 111 (90-98), 114 (90-98), 211 (98-99),

214 (89-99), 414 (90-99), Metro (90-95),

Saab 9-3II 1.9D (04-15)

Seat Cordoba (93-99), Toledo II (93-99)

VW Passat (96-05)Bulk

ø71.0 (3xø11.5) c-c 88.0

Size and material

Weight

Pack

Ean No 7330005040781

Important information

827-1301

Walker Bosal Klarius

VOL-30850571

80059

80077

80135

256050

256117

256487

410358

0,016

Steel / Fibre / Steel

112.0x68.0x1.5

Gasket Volvo 340 (81-91)

Bulk

2xø34.0 (3xø11.0)

Size and material

Weight

Pack

Ean No 7330005037743

Important information

862-1300

Walker Bosal Klarius

VOL-3213219

VOL-3296890

81110 256915 410244

0,046

Steel / Fibre / Steel

152.0x104.0x1.5

Gasket Volvo 480 (86-89)

Bulk

2xø46.0 (6xø9.5)

Size and material

Weight

Pack

Ean No 7330005035893

Important information

864-1300

Walker Bosal Klarius

VOL-3414302

80007 410325

0,022

Steel / Fibre / Steel

150.0x73.0x1.5

Gasket Volvo 440 (88-), 460 (88-), 480 (88-)

Bulk

2xø43.0 (3xø11.5)

Size and material

Weight

Pack

Ean No 7330005006633

Important information

864-1301

Walker Bosal Klarius

VOL-3452561

80058

6
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,034

Steel / Fibre / Steel

150.0x84.0x1.5

Gasket Volvo 440 (88-97), 460 (89-96),

480 (86-90)

Bulk

2xø55.0 (6xø8.5)

Size and material

Weight

Pack

Ean No 7330005006640

Important information

864-1302

Walker Bosal Klarius

VOL-3447360

80057

0,016

Steel / Graphite / Steel

100.0x44.0x1.5

Gasket Mitsubishi Carisma (00-06)

Volvo S40 I (98-04), V40 (98-04)

Bulk

ø63.5 (4xø9.0)

Size and material

Weight

Pack

Ean No 7330005044550

Important information

865-1301

Walker Bosal Klarius

VOL-30819990

0,020

Steel / Graphite / Steel

100.0x88.0x1.5

Gasket Mitsubishi Carisma dCi (00-06),

Space Star dCi (00-06)

Nissan Primera dCi (01-07)

Renault Espace IV dCi (02-06)

Laguna II dCi (01-06), Mégane II dCi (02-05)

Volvo S40 I dCi (01-04), V40 dCi (01-04)Bulk

ø43.0 (3xø9.5)

Size and material

Weight

Pack

Ean No 7330005048923

Important information

865-1302

Walker Bosal Klarius

VOL-30865942

256134

0,018

Steel/Graphite/Steel

123.0x91.0x1.5

Gasket Volvo Amazon (67-71), 140 (67-76),

240 (75-93), 340 (80-88),

360 (80-89), 740 (87-92),

760 (82-89), 940 (90-97)

Bulk

2xø45.5 (3xø11.5)

Size and material

Weight

Pack

Ean No 7330005006695

Important information

872-1300

Walker Bosal Klarius

VOL-1266713

VOL-1378218

VOL-3531326

VOL-67182281041 256877 410241

0,022

Steel / Graphite / Steel

127.0x120.0x1.5

Gasket Volvo S60 I (01-), S70 (96-00), V70 (96-00),

V70N I (00-04)

Bulk

ø80.0 (3xø10.0)

Size and material

Weight

Pack

Ean No 7330005039129

Important information

875-1300

Walker Bosal Klarius

VOL-8642449

80452 410553

0,030

Steel / Graphite / Steel

136.0x94.0x1.5

Gasket Volvo S60 I (01-)

Bulk

ø75.0 (4xø10.0)

Size and material

Weight

Pack

Ean No 7330005039136

Important information

875-1301

Walker Bosal Klarius

VOL-1270505

410840

0,022

Steel / Graphite / Steel

111.0x100.0x1.5

Gasket Volvo S60I 2.4-20v, Eng: B5244S/S2 (00-10)

Volvo V70II 2.4-20v, Eng: B5244S/S2 (01-07)

Volvo S80I 2.4-20v, Eng: B5244S/S2 (99-06)

Bulk

ø77.0 (4xø10.0)

Size and material

Weight

Pack

Ean No 7330005039143

Important information

875-1302

Walker Bosal Klarius

VOL-8627203

80444

0,006

Graphite / Steel / Graphite

Gasket Volvo Turbo models

C70 I/872 (00-02), C70 I/873 (00-05),

S60 I/P24.384 (00-10), S70/LS.184 (97-00),

S80 I/TS.184 (98-06), V70 I/LV875,876 (97-00),

V70 II/SW.285 (99-07), XC70 I/P2.295 (00-02)

Bulk

ø86.0xØ96.0x1.25-1.5

Size and material

Weight

Pack

Ean No 7330005041405

Important information

875-1323

Walker Bosal Klarius

VOL-30650969

0,016

Steel / Graphite / Steel

127.0x91.0x1.5

Gasket Nissan Interstar (02-06), Primastar (01-)

Opel Movano A (99-06), Vivaro (00-14)

Renault Espace III, IV (99-15),

Grand Espace III, IV (99-15), Scenic II (03-08),

Grand Scenic II (04-09), Laguna II (01-07),

Master II (97-13), Megane II (02-09),

Trafic II (01-15), Vel Satis I (02-09)

Volvo S60 I (99-10), V40 II (14-),

V70 II (00-07), XC60 I (10-15), XC70 II (01-07)

XC90 I (01-13), S80 I (98-06)

Bulk

ø74.0 (2xø9.0) c-c 104.0

Size and material

Weight

Pack

Ean No 7330005035909

Important information

877-1300

Walker Bosal Klarius

VOL-8672278

VOL-9179056

80368

80377

256124 410489

7
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,030

Steel / Graphite / Steel

200.0x91.0x1.25-1.5

Gasket Volvo S60 II 3.0-V6, 3.0-T6 (11-),

S80 II 3.0-V6, 3.0-T6 (07-), S80 II 3.2-V6 (07-),

S80 II 4.4-V8 (07-11), S80L II 3.2-V6 (08-14),

V60 3.0-V6 (11-), V70 II 3.0-V6, 3.0-T6 (08-10),

V70 II 3.2-V6 (08-14), XC60 3.0-V6 (09-),

XC60 3.0-T6 (10-11), XC60 3.2-V6 (10-),

XC70 II 3.0-V6, 3.0-T6 (08-), XC70 3.2-V6 (08-),

XC90 3.2-V6 (07-11), XC90 4.4-V8 (07-11)

Bulk

2xø65.0 (6xø11.5) c-c 87.7 / c-c 70.0

Size and material

Weight

Pack

Ean No 7330005055297

Important information

877-1301

Walker Bosal Klarius

VOL-30676642

0,030

Steel / Graphite / Steel

105.0x80.0x1.25-1.5

Gasket S80 II 4.4-V8 (07-11) Eng. B8444S

XC90 4.4-V8 (07-11) Eng. B8444S

Bulk

ø63.0 (3xø9.5, 1xø8.5)

Size and material

Weight

Pack

Ean No 7330005057208

Important information

877-1302

Walker Bosal Klarius

VOL-30713492

0,020

Steel / Fibre / Steel

100.0x99.0x1.5

Gasket Audi Coupe (85-88), 80 (83-96), 80 D (87-91),

90 (85-87), 100 (83-90), 100 D (83-94),

VW LT (82-89), LT D (82-95)

Volvo 240 D (79-91), 260 D (83-85),

740 D (83-93), 760 D (83-93),

940 D (92-93)Bulk

ø52.0 (3xø11.0)

Size and material

Weight

Pack

Ean No 7330005035916

Important information

891-1300

Walker Bosal Klarius

VOL-1257319

VOL-3507024

81086 256905

256925

410238

0,018

Steel / Fibre / Steel

99.0x88.0x1.5

Gasket Volvo 850 20v Automatic (94-95),

850 20v with EGR (96-97),

850 10v (94-97), S70 10v (96-00),

V70 10v (96-00)

Bulk

ø71.0 (4xø10.0)

Size and material

Weight

Pack

Ean No 7330005035923

Important information

894-1300

Walker Bosal Klarius

VOL-9135122

VOL-9146017

80248 410439

0,024

Steel / Graphite / Steel

102.5x102.5x1.25-1.50

Gasket Volvo 850 (94-96), S/V70 (97-00)

Bulk

ø63.0 (4xø10.5) c-c 70.25/82.5

Size and material

Weight

Pack

Ean No 7330005035930

Important information

053-1500

Walker Bosal Klarius

VOL-9146012

0,024

Steel / Fibre / Steel

158.0x79.0x1.5

Gasket Volvo 760 (86-90), 780 (86-87)

Bulk

2xø56.0 (3xø10.0)

Size and material

Weight

Pack

Ean No 7330005035756

Important information

898-1301

Walker Bosal Klarius

VOL-1271198

80005 410324

0,080

Wiremesh / Graphite

Gasket (Graphite ring, single cone) Renault Clio I (90-98), Espace III (96-00),

Laguna I (94-01), R5 Super (87-90)

R9 (86-89), R11 (86-89), R19 (88-96),

R21 (86-94), Safrane (92-96)

Volvo 440 (88-97), 460 (90-97)

Bulk

ø74.0xØ90.0x11.5

Size and material

Weight

Pack

Ean No 7330005005568

Important information

674-1380

Walker Bosal Klarius

VOL-3445663

VOL-3458510

86056 256782 410263

0,058

Wiremesh / Graphite

Gasket (Graphite ring, single cone) Dacia Logan (03-)

Mercedes A150 (04-)

Renault Clio I (90-98), Express (87-00),

Logan (03-), R5 Super (87-96), R19 (88-96),

R21 (88-91), Trafic (89-95), Twingo (93-97)

Bulk

ø52.0xØ67.0x11.5

Size and material

Weight

Pack

Ean No 7330005005599

Important information

679-1380

Walker Bosal Klarius

VOL-8442217

VOL-8443931

80026 256056 410264

0,136

Wiremesh / Graphite

Gasket (Graphite ring, single cone) Renault Clio I (91-98), Laguna I (95-01),

R19 (89-92)

Volvo S40 (96-00), V40 (96-00)

Bulk

ø85.5xØ103.0x13.00

Size and material

Weight

Pack

Ean No 7330005005612

Important information

682-1380

Walker Bosal Klarius

VOL-30806705

86167 256070

8
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,054

Wiremesh / Graphite

Gasket (Graphite ring, single cone) Volvo 440 (88-92), 460 (90-92)

Bulk

ø48.5xØ66.0x13.0

Size and material

Weight

Pack

Ean No 7330005006619

Important information

863-1380

Walker Bosal Klarius

VOL-3446573

86146 256088

0,060

Wiremesh / Graphite

Gasket (Graphite ring, single cone) Honda Accord (04-), Civic (01-03),

Stream (01-)

Mitsubishi Carisma 1.9 TD (96-99)

Volvo 440 (88-97), 460 (91-96),

480 (92-95), S40 I (95-01), S40 I Turbo (97-),

S40 I TD (97-), V40 (96-),

V40 Turbo (96-), V40 TD (97-)

Bulk

ø57.0xØ72.0x12.5

Size and material

Weight

Pack

Ean No 7330005037750

Important information

863-1382

Walker Bosal Klarius

VOL-3461078

80193 256257

0,168

Wiremesh / Graphite

Gasket (Graphite ring, single cone) Chrysler Stratus (JA, JX), Voyager II (ES)

Volvo 850 2.0, 2.5 W/O EGR (91-96),

Bulk

ø64.0xØ87.0x19.0

Size and material

Weight

Pack

Ean No 7330005006817

Important information

894-1380

Walker Bosal Klarius

VOL-6842441

80127 256400

0,010

Metal / Fibre

94.0x61.0x1.5

Gasket (Manifold gasket) Volvo models with the following engines

B19, B21, B23, B200, B230

* 4-Pack, ** Bulk

38.5x38.5 (2xø8.5)

Size and material

Weight

Pack

Ean No 7330005006763

Important information

891-1440-6000 *

Walker Bosal Klarius

891-1440 **

VOL-1378217

VOL-271704

VOL-463846

0,050

Sintermetal

Gasket (Sinter ring, double cone) Alfa Romeo 164/164 (87-98), 166/936 (00-07),

GTV/916 (95-05), Spider/916/393 (94-11)

BMW 3/E30 (87-93), 3/E36 (91-99),

3/E36 (91-99), 3/E46 (00-07), 5/E28 (83-87),

5/E34 (88-97), Z3/E36 (01-03), Z4/E85/86 (06-09)

Citroen Jumper I/230 (94-02), Jumper I/244 (03-)

Fiat Croma I/154 (85-96), Ducato II/230 (94-02),

Lancia Thema (84-94), Peugeot Boxer (94-02)

Saab 99 (77-80), 900 I (78-94)

Volvo 240, 740, 760, 940, 960 (Turbo engines)

Bulk

ø58.0xØ68.0x10.0

Size and material

Weight

Pack

Ean No 7330005003687

Important information

141-1340

Walker Bosal Klarius

VOL-1306852

82496 256737 410199

0,170

* Steel: MAC50

** Wiremesh/Graphite

Gasket (Sinter ring, double cone) Volvo 960 (90-97), S90 (96-99)

Bulk

ø57.0xØ68.0x26.0

Size and material

Weight

Pack

Ean No 7330005006725

Important information

889-1340 *

Walker Bosal Klarius

889-1380 **

VOL-1397896

86171

0,066

Sintermetal

Gasket (Sinter ring, double cone) Isuzu Trooper (85-00)

Volvo 240 (79-91), 260 (79-85), 740 (83-93),

760 (82-93), 940 (90-94), 960 (90-96)

Bulk

ø51.0xØ66.5x10.0

Size and material

Weight

Pack

Ean No 7330005006749

Important information

891-1340

Walker Bosal Klarius

VOL-1266118

82500 256017

256941

410243

0,024

Steel cup / Fibre

Gasket (Sliding ring) BMW 3/E30 (83-93), 5/E28 (85-87),

5/E34 (88-97), 6/E24 (77-89), 7/E23 (85-86)

Fiat Seicento (98-)

Mercedes 280/W126 (79-85)

VW LT (82-89), LT D (82-95)

Volvo 240D (79-85), 260D (79-85)Bulk

ø45.5xØ54.5x15.0

Size and material

Weight

Pack

Ean No 7330005006756

Important information

891-1360

Walker Bosal Klarius

VOL-1257314

81087 256216

256924

410181

0,018

Steel / Graphite

Gasket (Steel cup/coiled ring) Ford C-Max II/DXA-CB7, DXA-CEU (10-19),

Escort VI/AAL, ABL, AFL, ANL,GAL (95-99),

Puma (97-02), Fiesta II/FVD (89-95),

IV/J3S, J5S, JAS, JBS, JVS (95-03),

VI/JA8, JR8 (13-19), Focus III/DYB (10-18),

Galaxy II/WA6 (10-15), Kuga II/DM2 (13-),

Mondeo IV/BA7 (10-15), V/CE, CD, CF (14-),

S-Max I/WA6 (11-14), Transit Connect II (13-),

Mazda 121 III/JASM, JBSM (96-03)

Volvo V40 II/525-526 (12-13)

Bulk

ø97.0xØ105.0x5.0

Size and material

Weight

Pack

Ean No 7330005040125

Important information

500-1400

Walker Bosal Klarius

VOL-31293127

80316 256207 410411

9
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,020

Steel / Graphite

Gasket (Steel cup/coiled ring) Ford Galaxy II/WA6 (10-15),

Mondeo IV/BA7 (10-15), V/CE, CF (14-),

S-Max I/WA6 (10-14)

Volvo S60II/Y20-134 (14-18),

V60 I/155-157 (10-18), S80 II/AS-124 (07-16)

Bulk

ø98.5xØ107.5x5.0

Size and material

Weight

Pack

Ean No 7330005058533

Important information

875-1400

Walker Bosal Klarius

VOL-31251325

0,016

Steel / Graphite / Steel

105.0x105.0x1.5

Gasket (Turbo gasket) Volvo S40 I (00-04), V40 I (00-04)

Bulk

* Will be replaced by 827-1300!

ø70.5 (3xø9.5) c-c 81.0

Size and material

Weight

Pack

Ean No 7330005050483

Important information

865-1490 *

Walker Bosal Klarius

VOL-8642278

0,022

Graphite/Steel/Graphite

97.0x97.0x1.5

Gasket (Turbo gasket) Volvo S40 I (00-04), V40 I (00-04)

Bulk

ø65.0 (4xø9.5)

Size and material

Weight

Pack

Ean No 7330005050490

Important information

865-1491

Walker Bosal Klarius

VOL-8642277

0,030

(CrIII plated)

Steel

Metal part Volvo 340 (80-88), 340 D (84-89),

360 (80-89), 360 D (84-89)

Bulk

127.0x115.0x1.0

Size and material

Weight

Pack

Ean No 7330005008415

Important information

862-1612

Walker Bosal Klarius

VOL-3296850

82573 251928 430237

0,048

Steel (CrIII plated)

97.0x30.0x8.0x3.0

Metal part Volvo 340 (75-88)

Bulk

* Only one hanger excl. bolts!

** Compl. kit as shown on picture

(2xø6.5) c-c 30.0

Size and material

Weight

Pack

Ean No 7330005008422

Important information

862-1613 *

Walker Bosal Klarius

862-2660-6000 **

VOL-3210376

86014 251951

0,043

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

92.0x42.0x20.0x2.0

Metal part Volvo Amazon (62-67), Duett (62-68)

Bulk

ø45.0 (2xø6.5)

Size and material

Weight

Pack

Ean No 7330005008460

Important information

870-1610

Walker Bosal Klarius

VOL-192040

82422

0,020

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

Metal part Honda Civic (79-83), Ballade (79-83)

Volvo Duett (62-68), PV (56-66)

Bulk

70.0x20.0x2.0 (2xø8.5)

Size and material

Weight

Pack

Ean No 7330005008507

Important information

873-1610

Walker Bosal Klarius

VOL-89815

82407 251131

0,042

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

82.0x36.0x20.0x2.0

Metal part Volvo Duett (62-68), PV (56-66)

Bulk

ø42.0 (2xø6.5)

Size and material

Weight

Pack

Ean No 7330005008514

Important information

873-1611

Walker Bosal Klarius

VOL-192257

82421

0,032

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

76.0x36.0x20.0x2.0

Metal part Volvo PV (56-61)

Bulk

ø38.0 (2xø6.5)

Size and material

Weight

Pack

Ean No 7330005008538

Important information

873-1613

Walker Bosal Klarius

VOL-657784

82420

10
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,068

(CrIII plated)

Metal part Volvo S60 I (01-07) Ch.nr »136342

V70N I (00-07) FC1; ch.nr »213312, FC2; »209322,

XC70N I (01-07) Ch.nr »61778,

S80 I (99-06) Ch.nr -204964

Bulk

Fits on 875-1010

95.0x60.0x34.0 (1xø8.5)

Size and material

Weight

Pack

Ean No 7330005039044

Important information

875-1610

Walker Bosal Klarius

VOL-9180834

0,041

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

76.0x60.0x20.0x2.0

Metal part Volvo 140 (67-76, 240 (75-80),

260 (1975)

Bulk

ø48.0 (1xø6.5)

Size and material

Weight

Pack

Ean No 7330005008576

Important information

890-1610

Walker Bosal Klarius

VOL-1219570

VOL-878660

82424 251877

0,000

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

76.0x10.0x20.0x2.0

Metal part Volvo 260 (75)

Bulk

ø48.0 (2xø6.5)

Size and material

Weight

Pack

Ean No 7330005054351

Important information

890-1611

Walker Bosal Klarius

VOL-1219571

0,047

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

84.0x68.0x20.0x2.0

Metal part Volvo 160 (68-73)

Bulk

ø54.0 (1xø6.5)

Size and material

Weight

Pack

Ean No 7330005008644

Important information

895-1610

Walker Bosal Klarius

VOL-1210321

VOL-1219561

VOL-270712

VOL-27340282425 251881

0,044

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

93.0x42.5x20.0x2.0

Metal part Volvo 260 (76-83)

Bulk

* Is replaced by 870-1610!

ø45.0 (2xø7.0)

Size and material

Weight

Pack

Ean No 7330005054337

Important information

896-1610 *

Walker Bosal Klarius

VOL-464616

82423 251880

0,000

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

93.0x10.0x20.0x2.0

Metal part Volvo 260 (76-83)

Bulk

ø45.0 (2xø7.0)

Size and material

Weight

Pack

Ean No 7330005054344

Important information

896-1611

Walker Bosal Klarius

VOL-464617

0,366

(CrIII plated and topcoated with EnSeal®)

Metal sheet: DC01, Steel rod: SS1312

Metal part (Body band) Volvo 740 made in Sweden (91-92),

940 made in Sweden (91-97),

960 (95-97), S90 (97-99), V90 (97-99)

Oval body band with in line hooks

* 1-Pack, ** Bulk

* Incl. flange bolt and self locking flange nut!

** Ask for price and min. qty!

340.0x150.0x30.0

Size and material

Weight

Pack

Ean No 7330005011781

Important information

889-2690 *

Walker Bosal Klarius

889-1690 **

VOL-3507097

VOL-3507103

VOL-9161368

VOL-916136981506 251720

0,224

(CrIII plated and topcoated with EnSeal®)

Metal sheet: DC01

Metal part (Body band) Volvo 140 with engine: B18, B20/A/B/D (67-76),

240 with engine: B19A, B20A (75-80)

* 1-Pack, ** Bulk

* Incl. bolt, washer and nut!

** Ask for price and min. qty!

210.0x150.0x75.0 (ø125.0)

Size and material

Weight

Pack

Ean No 7330005011804

Important information

890-2680 *

Walker Bosal Klarius

890-1680 **

VOL-676018

81549 251878 430220

0,252

(CrIII plated and topcoated with EnSeal®)

Metal sheet: DC01

Metal part (Body band) Volvo 140 with engine: B20E (71-73),

160 with engine: B30A/E/F (68-74),

260 with engine: B27E (1975)

* 1-Pack, ** Bulk

* Incl. bolt, washer and nut!

** Ask for price and min. qty!

220.0x150.0x75.0 (ø147.0)

Size and material

Weight

Pack

Ean No 7330005011828

Important information

895-2680 *

Walker Bosal Klarius

895-1680 **

VOL-679113

81554 251882

11
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,364

(CrIII plated and topcoated with EnSeal®)

Metal sheet: DC01, Steel rod: SS1312

Metal part (Body band) Volvo 740 (85-93), 760 (85-93),

940 (90-97), 960 (90-97)

Oval body band with off set hooks

* 1-Pack, Bulk **

* Incl. flange bult and self locking nut!

** Ask for price and min. qty!

330.0x150.0x70.0

Size and material

Weight

Pack

Ean No 7330005011859

Important information

897-2690 *

Walker Bosal Klarius

897-1690 **

VOL-3514919

81585 251837 430235

0,304

(CrIII plated and topcoated with EnSeal®)

Metal sheet: DC01, Steel rod: SS1312

Metal part (Body band) Volvo 760 4-door and with multilink (88-90),

780 with engine: B200FT (87-90),

940 with multilink (90-94),

960 with multilink (90-97),

S90 (97-99), V90 (97-99)

Round body band with in line hooks

* 1-Pack, ** Bulk

* Incl. flange bolt and self locking nut!

** Ask for price and min. qty!

230.0x170.0x30.0

Size and material

Weight

Pack

Ean No 7330005011866

Important information

897-2691 *

Walker Bosal Klarius

897-1691 **

VOL-1378352

81584 251945

0,308

(CrIII plated and topcoated with EnSeal®)

Metal sheet: DC01, Steel rod: SS1312

Metal part (Body band) Volvo 740 (84-93), 760 (83-93),

780 (86-90), 940 (90-97), 960 (90-97)

Round body band with in line hooks

* 1-Pack. ** Bulk

* Incl. flange bolt and self locking nut!

** Ask for price and min. qty!

230.0x170.0x30.0

Size and material

Weight

Pack

Ean No 7330005011897

Important information

898-2690 *

Walker Bosal Klarius

898-1690 **

VOL-1332325

VOL-1378821

81570 251943 430222

0,352

(CrIII plated and topcoated with EnSeal®)

Metal sheet: DC01, Steel rod: SS1312

Metal part (Body band) Volvo 760 4-door (88-90), 780 (87-90),

940 with multilink (90-94)

Oval body band with in line hooks

* 1-Pack, ** Bulk

* Incl. flange bolt and self locking nut!

** Ask for price and min. qty!

340.0x150.0x30.0

Size and material

Weight

Pack

Ean No 7330005011903

Important information

898-2691 *

Walker Bosal Klarius

898-1691 **

VOL-1271256

VOL-3514916

81586 430362

0,075

Metal sheet: DC01, Steel rod: SS1312, CrIII

Metal part (Brace) Volvo 740, 760, 780, 940, 960

W/O Multi Link

Bulk

Right side only!

74.0x23.0x62.0 (2xø9.0)

Size and material

Weight

Pack

Ean No 7330005056621

Important information

898-1619

Walker Bosal Klarius

VOL-1273841

VOL-1273842

VOL-1273843

0,089

Metal sheet: DC01, Steel rod: SS1312, CrIII

65.0x60.0x65.0

Metal part (Brace) Volvo 740, 760, 780, 940, 960

W/O Multi Link

Bulk

Left side only!

M8x1.25 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005056614

Important information

898-1668

Walker Bosal Klarius

VOL-1273846

VOL-1330112

VOL-1330113

0,254

Metal sheet: DX54D-Zn275µm-M-A-C (Gal/Zn)

* 220.0x150.0x35.0

Metal part (Clamp) BMW 7/E65-67 (02-08)

Mercedes C/CL203/S202-203/W202-203 (91-08),

CLK/C209 (05-09), E/W210/S210 (98-03),

Sprinter/W906 (06-09), Vito/W639 (06-)

Saab 900 I (93-98), 9-3 I (98-)

Volvo 850 Turbo (93-97), 960 (90-97),

S70 Turbo (96-00), S90 (97-99), V70 Turbo (96-00)

VW Amarock Pick-up (10-), Crafter/2E/2F (06-13)

* 1-Pack, ** Bulk

* Incl. bolt, washer and nut as per Din standard

** Half clamp. Ask for price and min. qty!

(ø66.0) ** 119.0x80.0x35.0x2.0 (2xø9.5)

Size and material

Weight

Pack

Ean No 7330005017523

Important information

709-4310-6000 *

Walker Bosal Klarius

709-3310 **

VOL-1397897

VOL-3507702

VOL-3507703

80169

86212

254701 430630

430765

430767

0,214

Metal sheet: DX54D-Zn275µm-M-A-C (Gal/Zn)

* 220.0x140.0x31.0

Metal part (Clamp) Volvo 850 NOT for turbo engine (91-97),

S70 NOT for turbo engine (96-00),

V70 NOT for turbo engine (96-00)

* 1-Pack, ** Bulk

* Incl. bolt, washer and nut as per Din standard

** Half clamp. Ask for price and min. qty!

(ø52.0) ** 110.0x67.0x32.0x2.0 (2xø10.5)

Size and material

Weight

Pack

Ean No 7330005041856

Important information

894-4310-6000 *

Walker Bosal Klarius

894-3310 **

VOL-6842851

VOL-6842852

86191 254934 430424

0,182

Metal part (Clamp) Type: Accu® * Patent Oem clamp

Patent No:

US431252, US462922

JS462922

EP002714

EP022278

* Pat. pipe clamp which will

be replaced by 455-4110!

ø45.0

Size and material

Weight

Pack

Ean No 7330005037163

Important information

450-4070 *

Walker Bosal Klarius

VOL-3923441

12
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,182

Metal part (Clamp) Type: Accu® * Patent Oem clamp

Patent No:

US431252, US462922

JS462922

EP002714

EP022278

* Pat. pipe clamp which will

be replaced by 485-4110!

ø47.6

Size and material

Weight

Pack

Ean No 7330005039990

Important information

476-4070 *

Walker Bosal Klarius

VOL-30812666

0,188

Metal part (Clamp) Type: Accu® * Patent Oem clamp

Patent No:

US431252, US462922

JS462922

EP002714

EP022278

* Pat. pipe clamp which will

be replaced by 485-4110!

ø48.0

Size and material

Weight

Pack

Ean No 7330005037187

Important information

480-4070 *

Walker Bosal Klarius

VOL-3923345

0,196

Metal part (Clamp) Type: Accu® * Patent Oem clamp

Patent No:

US431252, US462922

JS462922

EP002714

EP022278

* Pat. pipe clamp which will

be replaced by 545-4110!

ø54.0

Size and material

Weight

Pack

Ean No 7330005039730

Important information

540-4070 *

Walker Bosal Klarius

VOL-3923442

0,204

Metal part (Clamp) Type: Accu® * Patent Oem clamp

Patent No:

US431252, US462922

JS462922

EP002714

EP022278

* Pat. pipe clamp which will

be replaced by 605-4110!

ø60.3

Size and material

Weight

Pack

Ean No 7330005035480

Important information

603-4070 *

Walker Bosal Klarius

VOL-NoOemNo5035480

0,220

Metal part (Clamp) Type: Accu® * Patent Oem clamp

Patent No:

US431252, US462922

JS462922

EP002714

EP022278

* Pat. pipe clamp which will

be replaced by 645-4110!

ø64.5

Size and material

Weight

Pack

Ean No 7330005046615

Important information

645-4070 *

Walker Bosal Klarius

VOL-30652229

VOL-30919995

80251

0,180

Metal sheet: DX51D-Zn275µm-M-A-C (Gal/Zn)

* 220.0x140.0x31.0

Metal part (Clamp) Type: PSA Universal

* 1-Pack, ** Bulk

* Incl. bolt, washer and nut as per Din standard

** Half clamp. Ask for price and min. qty!

(ø66.0) ** 115.0x66.0x24.0x2.5 (2xø9.0)

Size and material

Weight

Pack

Ean No 7330005017004

Important information

228-4310-6000 *

Walker Bosal Klarius

228-3310 **

VOL-8414987

82501 430108

0,188

Metal sheet: DX51D-Zn275µm-M-A-C (Gal/Zn)

* 220.0x140.0x31.0

Metal part (Clamp) Type: PSA Universal

* 1-Pack, ** Bulk

* Incl. bolt, washer and nut as per Din standard

** Half clamp. Ask for price and min. qty!

(ø69.0) ** 120.0x69.0x24.0x2.5 (2xø9.0)

Size and material

Weight

Pack

Ean No 7330005017011

Important information

228-4311-6000 *

Walker Bosal Klarius

228-3311 **

VOL-8414958

82516 254386 430173

0,144

(CrIII plated)

* 220.0x140.0x31.0

Metal part (Clamp) Type: PSA Universal

* 1-Pack, ** Bulk

Incl. bolt, washer and nut!

(ø58.0) ** 100.0x62.0x20.0x2.0 (2xø9.0)

Size and material

Weight

Pack

Ean No 7330005017394

Important information

674-4310-6000 *

Walker Bosal Klarius

674-4310 **

VOL-3100730

86019 430179

0,088

Made in CrIII plated mild steel

Metal part (Clamp) Type: UNI/M8 * 042-4650 (Bulk 2.500pcs.)

** 042-4670 (2-Pack)

*** 042-4700 (10-Pack)

* Bulk,  ** 2-Pack,  *** 10-Pack

Qty. in bulk can change from time to time!

Indicated weight is per unit!

ø42.0

Size and material

Weight

Pack

Ean No 7330005013358

Important information

* / ** / ***

Walker Bosal Klarius

VOL-3100724

VOL-3100725

VOL-3294763

VOL-329627882366

13
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,058

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø30.0»33.0

Size and material

Weight

Pack

Ean No 7330005056324

Important information

032-4210

Walker Bosal Klarius

VOL-NoOemNo5056324

81829

0,064

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø34.0»36.0

Size and material

Weight

Pack

Ean No 7330005013259

Important information

036-4210

Walker Bosal Klarius

VOL-653636

VOL-NoOemNo5013259

81831

0,064

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø35.0»38.0

Size and material

Weight

Pack

Ean No 7330005013273

Important information

038-4210

Walker Bosal Klarius

VOL-NoOemNo5013273

81833 250539

0,070

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø39.0»42.0

Size and material

Weight

Pack

Ean No 7330005013341

Important information

042-4210

Walker Bosal Klarius

VOL-191466

81821 250542

0,102

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø43.0»45.0

Size and material

Weight

Pack

Ean No 7330005013396

Important information

045-4210

Walker Bosal Klarius

VOL-NoOemNo5013396

81823 250445

250543

430254

0,108

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø46.0»48.0

Size and material

Weight

Pack

Ean No 7330005036414

Important information

048-4210

Walker Bosal Klarius

VOL-192204

VOL-949241

VOL-968359

81817 250547

0,096

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø49.0»51.0

Size and material

Weight

Pack

Ean No 7330005036423

Important information

051-4210

Walker Bosal Klarius

VOL-1378456

VOL-942721

VOL-949228

VOL-968353

VOL-976472

81811 250551

0,120

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø52.0»55.0

Size and material

Weight

Pack

Ean No 7330005036432

Important information

055-4210

Walker Bosal Klarius

VOL-1378457

VOL-942995

VOL-968354

VOL-97525981813 250554

0,112

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø54.0»56.0

Size and material

Weight

Pack

Ean No 7330005036441

Important information

056-4210

Walker Bosal Klarius

VOL-968149

VOL-968355

VOL-969154

VOL-97658781866

14
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,116

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø56.0»58.0

Size and material

Weight

Pack

Ean No 7330005036450

Important information

058-4210

Walker Bosal Klarius

VOL-1378458

VOL-949230

VOL-968356

VOL-97526081815 250558

0,126

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø59.0»61.0

Size and material

Weight

Pack

Ean No 7330005036469

Important information

061-4210

Walker Bosal Klarius

VOL-1378459

VOL-949676

VOL-968357

VOL-968461

VOL-975261

VOL-976412

81837

81872

250561

0,136

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø62.0»65.0

Size and material

Weight

Pack

Ean No 7330005013754

Important information

065-4210

Walker Bosal Klarius

VOL-949677

VOL-968358

VOL-975258

VOL-97526280514

81835

250465

250564

0,115

(CrIII plated)

Metal part (Clamp) Type: VOL Universal

Bulk

Incl. bolt, washer and nut!

ø66.0»68.0

Size and material

Weight

Pack

Ean No 7330005055501

Important information

067-4210

Walker Bosal Klarius

VOL-NoOemNo5055501

80521

0,494

(CrIII plated)

Fits Ø50-51mm pipe only. Incl. M10 bolt/nut

Metal part (Connector) Type: VAG Universal

Bulk

ø50.0xØ54.5x95.0±5 (Tightening Torque 30NM)

Size and material

Weight

Pack

Ean No 7330005011026

Important information

050-2770

Walker Bosal Klarius

VOL-30742476

86130

86152

265687 430046

430314

430469

430470

SLV6AV

0,564

(CrIII plated)

Fits Ø54-55mm pipe only. Incl. M10 bolt/nut

Metal part (Connector) Type: VAG Universal

Bulk

ø55.0xØ59.5x95.0±5 (Tightening Torque 30NM)

Size and material

Weight

Pack

Ean No 7330005011040

Important information

055-2770

Walker Bosal Klarius

VOL-31336374

80250

0,568

(CrIII plated)

Fits Ø60-61mm pipe only. Incl. M10 bolt/nut

Metal part (Connector) Type: VAG Universal

Bulk

ø60.0xØ64.5x95.0±5 (Tightening Torque 30NM)

Size and material

Weight

Pack

Ean No 7330005011088

Important information

060-2770

Walker Bosal Klarius

VOL-30645352

VOL-30738976

80718

86230

265835 430053

430477

SLV12AL

0,730

(CrIII plated)

Fits Ø64-65mm pipe only. Incl. M10 bolt/nut

Metal part (Connector) Type: VAG Universal

Bulk

* Will be replaced by 065-2770!

ø65.0xØ69.5x95.0 (Tightening Torque 30NM)

Size and material

Weight

Pack

Ean No 7330005047759

Important information

065-2771 *

Walker Bosal Klarius

VOL-30742432

80720

0,005

Spring steel

Metal part (Hanger) Volvo 340 (80-91), 360 (80-89)

Bulk

60.0x20.0x30.0

Size and material

Weight

Pack

Ean No 7330005008392

Important information

862-1601

Walker Bosal Klarius

VOL-3292049

251955

15
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,096

Metal sheet: DX51D-Zn100µm-M-A-C (Gal/Zn)

* 220.0x140.0x20.0

Metal part (Hanger) Volvo Amazon (62-71)

* 1-Pack, ** Bulk

* Incl. bolt, washer and nut!

** Without fasteners! Ask for price and min. qty!

(ø38.0) 95.0x45.0x20.0 (1xø8.5)

Size and material

Weight

Pack

Ean No 7330005038108

Important information

871-2660-6000 *

Walker Bosal Klarius

871-1660 **

VOL-669365

0,190

(CrIII plated)

100.0x90.0x55.0 (1xø8.5)

Metal part (Hanger) Volvo 140 with engine: B18, B20/A/B/D (67-73)

Bulk

Incl. bolt, washer and nut!

ø44.5

Size and material

Weight

Pack

Ean No 7330005011798

Important information

890-2660

Walker Bosal Klarius

VOL-678655

81717 251879 430219

0,192

(CrIII plated)

100.0x90.0x55.0 (1xø8.5)

Metal part (Hanger) Volvo 140 with engine: B20E (71-73),

160 with engine: B30A/E/F(68-73)

Bulk

ø50.5

Size and material

Weight

Pack

Ean No 7330005011811

Important information

895-2660

Walker Bosal Klarius

VOL-679116

111626

81718

251883

0,520

Metal sheet: DC01

Metal part (Repl. bracket) Volvo 240 (77-89)

1-Pack

* Discontinued

147.0x109.0x81.0

Size and material

Weight

Pack

Ean No 7330005021650

Important information

891-8900 *

Walker Bosal Klarius

VOL-1219261

VOL-1219263

VOL-1346299

VOL-135700282555

0,140

Metal sheet: DX54D-Zn275µm-M-A-C (Gal/Zn)

97.0x95.0x14.0

Metal part (Repl. flange) Volvo 240, 740, 760, 940

NOT for Turbo engine!

Bulk

Can be replaced by 891-1570-6000

ø56.5 (3xø9.25) c-c 68.5

Size and material

Weight

Pack

Ean No 7330005008606

Important information

891-1570

Walker Bosal Klarius

VOL-NoOemNo29

0,210

Metal sheet: DC01

100.0x96.0x10.0

Metal part (Repl. flange) Volvo 240, 740, 760, 940

ONLY for Turbo engine!

Bulk

Can be replaced by 899-1570-6000!

ø64.5 (3xø9.5) c-c 71.5

Size and material

Weight

Pack

Ean No 7330005008637

Important information

892-1570

Walker Bosal Klarius

VOL-1306867

0,160

Metal sheet: DC01

94.0x82.0x8.0

Metal part (Repl. flange) Volvo 240/42/44/45 D24 (79-85)

740/60 D24 (83-93)

ONLY for Diesel engine!

Bulk

ø48.5 (3xø9.5) c-c 66.0

Size and material

Weight

Pack

Ean No 7330005008729

Important information

898-1570

Walker Bosal Klarius

VOL-NoOemNo31

82508

0,070

C9D

(CrIII plated)

Metal part (U-bolt) Type: UNI/M8 Universal

* Volvo 940 TD without multilink (90-97),

* 960 TD without multilink (90-97)

* For rigid rear axel ONLY!

Bulk

ø70.0 (2xM8)

Size and material

Weight

Pack

Ean No 7330005040842

Important information

070-3400

Walker Bosal Klarius

VOL-9135449

0,092

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Ford I Focus I/DAW, DBW, DNW (98-05),

II/DA,DB,DH,DP,DS,DB3,FCH,FFS,HCP (04-12),

Focus III/DYB (12-), C-Max I/DM2 (07-10),

C-Max II/DXA-CB7, DXA-CEU (10-),

Tourneo Connect (02-13), Grand Connect (13-),

Transit Connect I (02-13), II (13-),

Transit Courier (14-)

Mazda 3/BK, BL (03-14), 5 (05-10)

Volvo C30/533 (06-12), C70 II/542 (06-13),

S40 II/525, 526, 544 (04-), V50 I/545 (04-12)

Bulk

75.0x51.0x34.0 (1xø10.0) (65°ShA)

Size and material

Weight

Pack

Ean No 7330005045014

Important information

400-1010

Walker Bosal Klarius

VOL-30647635

VOL-30657361

80181 255126 420328

16
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,092

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Ford Cougar/EC (98-01), Fusion I/JU2 (02-12),

Fiesta V/JH1,JH3,JD1,JD3 (01-08),

Focus C-Max I/DM2 (03-07), Galaxy II/WA6 (06-15),

Focus II/DA,DB,DH,DP,DS,FCH,FFS,HCP (04-12),

Mondeo I/BNP,GBP (94-96), II/BAP,BFP,BNP (96-00)

Mondeo III/B4Y,B5Y,BWY (00-07), IV/BA7 (07-15),

V/CE,CF (14-), S-Max I/WA6 (06-14)

Mazda 3/BK (04-09)

Volvo S40 II/MS-544 (05-10),

V50 I/MW-545 (03-09)

Bulk

Can be replaced by 053-1014

75.0x52.0x38.0 (2xø10.0) c-c 41.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005045007

Important information

400-1011

Walker Bosal Klarius

VOL-30357362

VOL-30632826

VOL-30657362

VOL-30714990

VOL-30730681

VOL-30730684

VOL-30793156

255059

255121

0,064

** Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Ford Capri I (68-74), II (74-77), III (78-87),

Consul (72-75), Escort I (68-76), II (74-80),

Granada (77-85), Scorpio I (85-94),

Sierra II (89-93), Taunus (64-83), Transit (77-92)

Isuzu Campo (85-88), Midi (88-92), KB (85-90),

Trooper I (84-91), II (91-98), 1800-2200 (83-89)

Mercedes T2 (75-88)

Opel Frontera A (92-98), Kadett C (73-79),

Manta B (77-88)

Volvo 340/343/344/345/360 (80-91), 360 (80-89)

Bulk

** Discontinued, old type of hanger!

* Hanger in a new modern design!

** 52.0x45.0x35.0 (60°ShA)

Size and material

Weight

Pack

Ean No 7330005001560

Important information

453-1000 **

Walker Bosal Klarius

029-1015 *

VOL-3293876

0,106

Ethylene Propylene Diene Monomer >EPDM<

* 220.0x150.0x32.0

Silencer mounting Mitsubishi Carisma (97-99), Space Star (98-00)

Volvo S40 I (96-00), V40 (96-00)

Can be replaced by 053-1012

1-Pack, */**, *** Bulk

* As picture, ** 865-2270 incl. distant pipe only!

*** 865-1010 rubber only!

81.0x40.0x25.0 (2xø11.0) c-c 46.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005049074

Important information

865-2270-6000 *

865-1010 ***

Walker Bosal Klarius

865-2270 **

VOL-30873097

80120 255210

0,102

Ethylene Propylene Diene Monomer >EPDM<

* 220.0x150.0x32.0

Silencer mounting Mitsubishi Carisma (95-99), Space Star (98-00)

Volvo S40 I (96-00), V40 (96-00)

Can be replaced by 046-1012

1-Pack, */**, *** Bulk

* As picture, ** 865-2271 incl. distant pipe only!

*** 865-1011 rubber only!

65.0x55.0x25.0 (2xø11.0) c-c 31.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005049081

Important information

865-2271-6000 *

865-1011 ***

Walker Bosal Klarius

865-2271 **

VOL-30873099

80119 255460

0,134

Ethylene Propylene Diene Monomer >EPDM<

* 220.0x150.0x32.0

Silencer mounting Mitsubishi Carisma (97-99)

Volvo S40 I (96-00), V40 (96-00)

Can be replaced by 053-1013

1-Pack, */**, *** Bulk

* As picture, ** 865-2272 incl. distant pipe only!

*** 865-1012 rubber only!

81.0x50.0x25.0 (2xø11.0) c-c 46.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005049104

Important information

865-2272-6000 *

865-1012 ***

Walker Bosal Klarius

865-2272 **

VOL-30873098

0,084

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Volvo S60 I (01-07) Ch.nr »136342,

V70N I (00-07) FC1; ch.nr »213312, FC2; »209322,

XC70N I (01-07) Ch.nr »61778,

S80 I (99-06) Ch.nr -204964

Bulk

Fits into 875-1610

65.0x65.0x32.0 (1xø8.5) (65°ShA)

Size and material

Weight

Pack

Ean No 7330005049241

Important information

875-1010

Walker Bosal Klarius

VOL-9179385

82044

0,058

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Fiat Doblo I (01-), Palio I (96-18)

Ford Focus II-IV (04-), Galaxy III (15-),

Kuga I-II (08-),Mondeo IV-V (07-),C-Max I-II (07-)

S-Max II (15-), Tourneo (13-), Transit II (13-)

Rover Freelander (06-14), Evoque (11-)

Mazda 3/BK, BL (03-09), 5/CR19 (05-10)

Volvo C30 I (07-), C70 (06-),

S60 I (02-03), S60 II (04-), S80 I (01-06)

S80 II (07-), V50 I (04-), V70N I (01-07),

V70N II (08-), XC70N I (01-07), XC90 I (03-)

Bulk

62.0x52.0x25.0 (2xø10.0) c-c 32.0 (40°ShA)

Size and material

Weight

Pack

Ean No 7330005044567

Important information

875-1011

Walker Bosal Klarius

VOL-30657359

VOL-30657360

VOL-30676823

VOL-3M515A262DB80430 255017 420491

0,156

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Ford C-Max II (10-), Grand C-Max II (10-),

Focus III (11-15)

Volvo C30 I (07-), S40 II (04-11),

V50 I (05-11), S60 I (01-11), XC60 I (10-),

C70 II (06-), V70N I (00-07), V70N II (08-),

XC70N I (01-07), XC70N II (08-),

S80 I (98-06), S80 II (07-)

XC90 I (01-13)

Bulk

87.0x52.0x37.0 (2xø10.0) c-c 50.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005044420

Important information

877-1010

Walker Bosal Klarius

VOL-30748235

VOL-82056740

VOL-82056836

VOL-918640880367 255105 420507

0,094

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Volvo S60 I (01-07), V70N I (01-07),

XC70N I (01-07), S80 I (98-06),

XC90 I (03-)

Bulk

87.0x52.0x26.0 (2xø10.0) c-c 50.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005044437

Important information

877-1011

Walker Bosal Klarius

VOL-9179238

VOL-9492157

255109

17
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,126

Ethylene Propylene Diene Monomer >EPDM<

* 220.0x150.0x29.0

Silencer mounting BMW 5/E39 (95-03), 7/E38 (94-01), Z8 (00-03)

Volvo S60 I (00-10), S80 I (98-06),

V70 II (00-07)

* 1-Pack, ** Bulk

* Incl. washer and nut!

** Without washer and nut!

74.0x50.0x29.0 (2xM8x13.0) (65°ShA)

Size and material

Weight

Pack

Ean No 7330005047452

Important information

877-2180-6000 *

Walker Bosal Klarius

877-1180 **

VOL-9492153

0,260

Ethylene Propylene Diene Monomer >EPDM<

250.0x53.0x27.0 (CrIII plated)

Silencer mounting Ford Edge II/CD4 (15-)

C-Max II/DXA-CB7, DXA-CEU (10-),

Focus III/DYB (10-), Kuga II/DM2 (13-),

Galaxy II/WA6 (10-15), III/CK (15-)

S-Max I/WA6 (10-14), II/CJ (15-),

Mondeo IV/BA7 (10-15), V/CD, CE, CF (14-),

Tourneo Connect (13-), Transit Connect II (13-)

Volvo S60 II/Y20-134 (11-15),

V60 I/155, 157 (10-17), XC60 I/156 (09-14),

V70 III/BW-135 (11-15), S80 II/AS-124 (07-16)

Bulk

(1xø8.5, 1xOval 8.5x14.5 in met.part) 2xø9 (65ShA

Size and material

Weight

Pack

Ean No 7330005058472

Important information

878-1030

Walker Bosal Klarius

VOL-31274805

VOL-31321932

VOL-9G915D217GA

VOL-AG915D217AA82069 430918

0,054

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Volvo 140 (74-76), 240 (75-93), 260 (79-85),

440 (88-97), 460 (90-97), 480 (86-96)

* Bulk, ** 1-Pack

* Only rubber 890-1011, Only bolt 892-5900!

** Incl. rubber and bolt

61.0x49.0x35.0 (2xø8.5) c-c 24.5 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005045793

Important information

890-1011 *

Walker Bosal Klarius

890-2031 **

VOL-1206468

VOL-3460718

1247B

81247

255891 420177

0,088

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Volvo 850 (91-97), S70 (96-00), V70 (96-00)

Bulk

87.0x52.0x22.0 (2xø8.0) c-c 50.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005045755

Important information

894-1010

Walker Bosal Klarius

VOL-6842636

VOL-9979238

80548 255056

0,066

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Volvo S60 I (01-07), V70N (00-07),

XC70 (01-07), S80 I (99-06)

XC90 I (03-)

Bulk

77.0x36.0x25.0 (2xø8.5) c-c 25.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005046097

Important information

894-1011

Walker Bosal Klarius

VOL-8666255

0,000

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Volvo S60 I (01-07), V70N (00-07),

XC70 (01-07), S80 I (99-06),

XC90 I (03-)

Bulk

51.0x36.0x25.0 (2xø8.5) c-c 25.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005052753

Important information

894-1012

Walker Bosal Klarius

VOL-31257587

0,040

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Volvo 66 (75-82), 340 (75-83), 360 (75-83),

740 (84-93), 760 (83-93), 780 (86-90)

Bulk

58.0x55.0x15.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005035572

Important information

898-1011 **

Walker Bosal Klarius

VOL-1329646

VOL-1329874

VOL-3100527

81314 255949 420002

420202

0,052

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Volvo 740 (84-93), 760 (83-93),

780 (86-90), 940 (90-97), 960 (90-97),

V70 (96-00), S90 (96-00), V90 (96-00)

Bulk

58.0x55.0x20.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005035558

Important information

898-1012

Walker Bosal Klarius

VOL-1329647

111669

81315

255946 420179

420241

0,070

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting Volvo 740 (85-93), 760 (85-93),

780 (87-90), 850 (91-97), 940 (90-97),

960 (90-97), S90 (97-99),

V70 (96-00), V90 (97-99)

Bulk

58.0x55.0x27.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005035565

Important information

899-1010

Walker Bosal Klarius

VOL-1378313

VOL-3528485

81273

18
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,022

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting (Ring) Dacia, Kia, Mazda,

Mitsubishi, Opel, Renault,

Talbot, Toyota, Vauxhall,

Volvo

Bulk

ø41.0xØ65.0x15.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005046059

Important information

610-1010

Walker Bosal Klarius

VOL-3100099

81223 255213

255316

255397

420164

0,014

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting (Ring) Daf 55 (70-72)

Opel Kadett B (65-73)

Saab 99 (68-74)

Volvo Amazon (62-71), 340 (81-91), 360 (82-89),

440 (88-97), 460 (90-97), 480 (87-96)

* Bulk, ** 1-Pack

ø34.0xØ54.0x10.0 (60°ShA)

Size and material

Weight

Pack

Ean No 7330005047223

Important information

625-1010 *

Walker Bosal Klarius

625-1010-6000 **

VOL-667503

111456

81219

81226

81253

255563 420162

0,042

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting (Ring) Volvo Amazon (62-71), 140 (67-76),

240 (75-93), 260 (79-85)

Bulk

ø49.0xØ70.0x17.0 (55°ShA)

Size and material

Weight

Pack

Ean No 7330005045953

Important information

871-1010

Walker Bosal Klarius

VOL-666407

1235B

81235

255873 420175

0,022

Ethylene Propylene Diene Monomer >EPDM<

Silencer mounting (Ring) Volvo 140 (67-73)

Bulk

ø52.0xØ72.0x10.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005045960

Important information

890-1010

Walker Bosal Klarius

VOL-676184

1236B

81236

255878 420176

0,080

Natural Rubber >NR<

Silencer mounting (Ring) Volvo 760 (82)

Bulk

ø51.0xØ85.0x21.0 (65°ShA)

Size and material

Weight

Pack

Ean No 7330005003281

Important information

898-1000

Walker Bosal Klarius

VOL-1273438

81256

0,030

Ethylene Propylene Diene Monomer >EPDM<

c-c 51.0»91.0

Silencer mounting (Strap) Type: UNI Fits on many old BLMC, Dodge, Ford,

Nissan, Rover, Talbot and Volvo models

Bulk

With 3 layer of textile

121.0x26.0x5.0 (4xø9.0)

Size and material

Weight

Pack

Ean No 7330005055693

Important information

010-1240

Walker Bosal Klarius

VOL-86928

VOL-87280

VOL-87763

VOL-89817255436 420033

0,056

Ethylene Propylene Diene Monomer >EPDM<

High: 20.0

Silencer mounting Type: UNI c-c for round Ø8.0 rod: 38.0

c-c for round Ø10.0 rod: 36.0

c-c for round Ø12.0 rod: 34.0

c-c for round Ø14.0 rod: 32.0

c-c for oval 21.0x12.0 rod: 34.0

* Bulk, 1-Pack **/***

* Only rubber!, ** Incl. distant pipe only!

*** As picture!

75.0x47.0x20.0 (60°ShA)

Size and material

Weight

Pack

Ean No 7330005047001

Important information

046-1012 *

046-2272-6000 ***

Walker Bosal Klarius

046-2272 **

VOL-NoOemNo5047001

0,070

Ethylene Propylene Diene Monomer >EPDM<

High: 25.0

Silencer mounting Type: UNI c-c for round Ø8.0 rod: 45.0

c-c for round Ø10.0 rod: 43.0

c-c for round Ø12.0 rod: 41.0

c-c for round Ø14.0 rod: 39.0

c-c for oval 21.0x12.0 rod: 41.0

* Bulk, 1-Pack **/***

* Only rubber!, ** Incl. distant pipe only!

*** As picture!

81.0x47.0x25.0 (60°ShA)

Size and material

Weight

Pack

Ean No 7330005046455

Important information

053-1013 *

053-2273-6000 ***

Walker Bosal Klarius

053-2273 **

VOL-NoOem5046455

0,082

Ethylene Propylene Diene Monomer >EPDM<

High: 30.0

Silencer mounting Type: UNI c-c for round Ø8.0 rod: 45.0

c-c for round Ø10.0 rod: 43.0

c-c for round Ø12.0 rod: 41.0

c-c for round Ø14.0 rod: 39.0

c-c for oval 21.0x12.0 rod: 41.0

* Bulk, 1-Pack **/***

* Only rubber!, ** Incl. distant pipe only!

*** As picture!

81.0x47.0x30.0 (60°ShA)

Size and material

Weight

Pack

Ean No 7330005046462

Important information

053-1014 *

053-2274-6000 ***

Walker Bosal Klarius

053-2274 **

VOL-NoOemNo5046462

81384 255041 420216

19
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Fittings Volvo

0,004

(CrIII plated)

Spring bolt centralising washer Volvo 850

Is used together with 894-1710

in item 894-2720-6000

Bulk

ø9.0xø20.0xØ11.0xØ22.5x1.0

Size and material

Weight

Pack

Ean No 7330005039167

Important information

894-5901

Walker Bosal Klarius

VOL-976944

0,036

(CrIII plated - oxygene expulsion)

Spring steel: Din:17223, Quality:B

Steel spring (Conical) Fits on many Daihatsu, Fiat, Lancia,

Opel and Volvo models

Bulk

L40.0 (ø15.0xØ23.0)x(ø21.0xØ29.0)xT4.0 (Þ6)

Size and material

Weight

Pack

Ean No 7330005008071

Important information

614-1710

Walker Bosal Klarius

VOL-3462563

82517 251860 430149

0,056

(CrIII plated - oxygene expulsion)

Spring steel: Din:17223, Quality:B

Steel spring (Conical) Dacia Logan (03-)

Mitsubishi Carisma (96-00)

Renault Logan (05-07), R5 (72-96),

Twingo (93-96), Safrane II (99-00),

Volvo 440 (88-97), 460 (90-97)

Bulk

L51.0xø12.0xØ21.0xø16.0xØ25.0xT4.5 (Þ8)

Size and material

Weight

Pack

Ean No 7330005008248

Important information

674-1710

Walker Bosal Klarius

VOL-8427159

86005 251971 430184

0,024

(CrIII plated - oxygene expulsion)

Spring steel: Din:17223, Quality:B

Steel spring (Conical) Volvo 850 2.0, 2.5 W/O EGR (91-97)

1-Pack

L45.0xø9.0xØ15.0xø14.0xØ20.0xT3.0 (Þ7)

Size and material

Weight

Pack

Ean No 7330005040170

Important information

894-2720-6000

Walker Bosal Klarius

VOL-9146415

80126

20
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Repair Flange Volvo

0,448

(CrIII plated)

220.0x150.0x19.0

Metal part (Repl. flange) Volvo 240, 740, 760, 940

NOT for Turbo engine!

1-Pack

Three devided flange.

No welding necessary!

ø58.0 (3xø8.5) c-c 69.0

Size and material

Weight

Pack

Ean No 7330005039518

Important information

891-1570-6000

Walker Bosal Klarius

VOL-1276031

80310

82509

0,420

(CrIII plated)

220.0x150.0x19.0

Metal part (Repl. flange) Volvo 240, 740, 760, 940

ONLY for Turbo engine!

1-Pack

Three devided flange.

No welding necessary!

ø62.0 (3xø8.5) c-c 72.5

Size and material

Weight

Pack

Ean No 7330005040590

Important information

899-1570-6000

Walker Bosal Klarius

VOL-NoOemNo5040590

80315

82536

21
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Repair Kit Volvo

0,274

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Volvo C30 I 1.6i, 1.8i, 2.0i (06-13),

Volvo S40 II 1.6i, 1.8i, 2.0i (04-11),

Volvo V50 I 1.6i, 1.8i, 2.0i (04-11)

Volvo pipe: 30681698, 30793878, 30681697

It replaces first hanger from rear ONLY!1-Pack

It replaces first hanger from rear ONLY!

* Excl. rubber, ** Incl. rubber

ø48.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005044208

Important information

865-2660-6000 *

Walker Bosal Klarius

865-7450-6000 **

VOL-NoOem5044208

0,272

Metal sheet: DC51D, Steel rod: DC9

250.0x170.0x40.0

Metal part (Repl. hanger) Volvo C30 I 1.6i, 1.8i, 2.0i  (07-),

Volvo S40 II 1.6i, 1.8i, 2.0i (04-11),

Volvo V50 I 1.6i, 1.8i, 2.0i (04-11)

Volvo pipe: 30681700, 30681701

It replaces the hanger over rear axle ONLY!1-Pack

It replaces the hanger over rear axle ONLY!

* Excl. rubber, ** Incl. rubber

ø48.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005044505

Important information

865-2661-6000 *

Walker Bosal Klarius

865-7350-6000 **

VOL-NoOem5044505

0,294

Metal sheet: DC51D, Steel rod: CD9

200.0x150.0x70.0

Metal part (Repl. hanger) Ford Focus II 1.4i - 2.0i (04-)

Ford Focus CC 2.0i (06-11)

Ford Focus C-Max 1.6i - 2.0i (03-)

Volvo C30 I 1.6i, 1.8i, 2.0i  (07-),

Volvo S40 II 1.6i, 1.8i, 2.0i (04-11),

Volvo V50 I 1.6i, 1.8i, 2.0i (04-11)

Ford Pipe: 1234018, 1253560, 1329718, 1364172

Volvo pipe: 30681700, 30681701

It replaces the 3rd hanger from rear ONLY!

1-Pack

It replaces the 3rd hanger from rear ONLY!

* Excl. rubber, ** Incl. rubber

ø48.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005044529

Important information

865-2662-6000 *

Walker Bosal Klarius

865-7351-6000 **

VOL-NoOemNo28

0,504

Metal sheet: DC51D, Steel rod: CD9

(CrIII plated)

Metal part (Repl. hanger) Ford Focus II 1.6i - 2.0i (04-11)

Ford Focus CC 2.0i (07-11)

Ford Focus C-Max 1.6i - 2.0i (03-11)

Volvo C30 I 1.6i 1.8i, 2.0i (07-13),

Volvo S40 II 1.6i 1.8i, 2.0i (04-12),

Volvo V50 1.6i 1.8i, 2.0i (04-12)

Eng: B4164S3, B4184S8, B4184S11, B4204S3

1-Pack

It replaces the CAT hanger ONLY!

* Excl. rubber, ** Incl. rubber

250.0x170.0x60.0

Size and material

Weight

Pack

Ean No 7330005053651

Important information

865-2664-6000 *

Walker Bosal Klarius

865-7164-6000 **

VOL-NoOem5053651

0,278

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Volvo C30 I 1.6 TD (07-),

S40 II 1.6 TD (04-11), V50 I 1.6 TD (04-11)

Volvo pipe: 30741884, 30793511

It replaces first hanger from rear ONLY!

1-Pack

It replaces first hanger from rear ONLY!

* Excl. rubber, ** Incl. rubber

ø54.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005047698

Important information

865-2665-6000 *

Walker Bosal Klarius

865-7465-6000 **

VOL-NoOem5047698

0,288

Metal sheet: DC51D, Steel rod: CD9

250.0x170.0x40.0

Metal part (Repl. hanger) Volvo C30 I 1.6 TD (07-),

Volvo S40 II 1.6 TD (04-11),

Volvo V50 I 1.6 TD (04-11)

Volvo pipe: 30636975, 31321609

It replaces the hanger over rear axle ONLY!1-Pack

It replaces the hanger over rear axle ONLY!

* Excl. rubber, ** Incl. rubber

ø54.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005051459

Important information

865-2666-6000 *

Walker Bosal Klarius

865-7365-6000 **

VOL-NoOem5051459

0,290

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Ford Focus II 1.6, 1.8 TDCi (03-),

Ford Focus C-Max 1.6, 1.8 TDCi (03-)

Mazda 3 1.6 CiTD (03-05)

Volvo C30 I 1.6 TD (07-),

Volvo S40 II 1.6 TD (04-11),

Volvo V50 I 1.6 TD (04-11)

Ford pipe: 1303456, 1349857, 1364100

Mazda pipe: Y601400300DSP12

Volvo pipe: 30636975, 31321609

1-Pack

It replaces the 3rd hanger from rear ONLY!

* Excl. rubber, ** Incl. rubber

ø54.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005051466

Important information

865-2667-6000 *

Walker Bosal Klarius

865-7367-6000 **

VOL-NoOemNo39

0,292

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Volvo C30 I 2.4S, 2.5T (07-),

Volvo C70 II 2.4S, 2.5T (06-)

Volvo S40 II 2.0T, 2.4S, 2.5T (04-),

Volvo V50 I 2.4S, 2.5T (04-)

Volvo pipe: 30730681/88/90, 30793176/177/180/181

Volvo pipe: 30794714, 31261382/383/683/684/685

Volvo pipe: 31305143

It replaces the LEFT rear hanger ONLY!

1-Pack

It replaces the LEFT rear hanger ONLY!

* Excl. rubber, ** Incl. rubber

ø58.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005051558

Important information

874-2660-6000 *

Walker Bosal Klarius

874-7410-6000 **

VOL-NoOemNo41

0,290

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Volvo C30 I 2.4S, 2.5T (07-),

Volvo C70 II 2.4S, 2.5T (06-)

Volvo S40 II 2.0T, 2.4S, 2.5T (04-),

Volvo V50 I 2.4S, 2.5T (04-)

Volvo pipe: 30730681/88/90, 30793176/177/180/181

Volvo pipe: 30794714, 31261382/383/683/684/685

Volvo pipe: 31305143

It replaces the RIGHT rear hanger ONLY!

1-Pack

It replaces the RIGHT rear hanger ONLY!

* Excl. rubber, ** Incl. rubber

ø58.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005051572

Important information

874-2661-6000 *

Walker Bosal Klarius

874-7411-6000 **

VOL-NoOemNo42

22
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Repair Kit Volvo

0,292

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Volvo C30 I 2.4 (07-11),

Volvo C70 II 2.4 (06-11),

Volvo S40 II 2.4 (04-10),

Volvo V50 I 2.4 (04-10)

Volvo pipe: 30730687

It replaces the hanger over rear axle ONLY!

1-Pack

It replaces the hanger over rear axle ONLY!

* Excl. rubber, ** Incl. rubber

ø60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005051596

Important information

874-2662-6000 *

Walker Bosal Klarius

874-7312-6000 **

VOL-NoOemNo43

0,294

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Volvo C30 I 2.4 (07-11),

Volvo C70 II 2.4 (06-11),

Volvo S40 II 2.4 (04-10),

Volvo V50 I 2.4 (04-10)

Volvo pipe: 30730687

It replaces the 4th hanger from rear ONLY!

1-Pack

It replaces the 4th hanger from rear ONLY!

* Excl. rubber, ** Incl. rubber

ø60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005051602

Important information

874-2663-6000 *

Walker Bosal Klarius

874-7313-6000 **

VOL-NoOemNo44

0,292

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Volvo C30 I 2.0 TDi (07-),

Volvo C30 I 2.0 TDi (07-),

Volvo V50 I 2.0 TDi (04-11)

Volvo C70 I 2.0 TDi (08-09)

Volvo pipe: 30648891, 30676804

Volvo pipe: 30741885, 30742933, 30793283/880

It replaces first hanger from rear ONLY!

1-Pack

It replaces first hanger from rear ONLY!

* Excl. rubber, ** Incl. rubber

ø60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005047711

Important information

875-2665-6000 *

Walker Bosal Klarius

875-7465-6000 **

VOL-NoOemNo20

0,290

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Ford Focus II 2.0 TDCi (04-),

Ford Focus CC 2.0 TDCi (06-11),

Ford Focus C-Max 2.0 TDCi (03-),

Volvo C30 I 2.0 TDi (07-),

Volvo C70 II 2.0 TDi (06-11),

Volvo S40 II 2.0 TDi (04-11),

Volvo V50 I 2.0 TDi (04-11)

Ford pipe: 1234442, 1253561, 1306766, 1368316/17

Volvo pipe: 30648890/892, 30730988/42912/42934

1-Pack

It replaces the hanger over rear axle ONLY!

* excl. rubber, ** Incl. rubber

ø60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005051442

Important information

875-2666-6000 *

Walker Bosal Klarius

875-7365-6000 **

VOL-NoOemNo37

0,308

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Ford Focus II 2.0 TDCi (04-), CC 2.0 TDCi (06-11),

Ford Focus C-Max 2.0 TDCi (03-),

Volvo C30 I 2.0 TDi (07-),

Volvo C70 II 2.0 TDi (06-11),

Volvo S40 II 2.0 TDi (04-11),

Volvo V50 I 2.0 TDi (04-11)

Ford pipe: 1234442, 1253561, 1306766, 1368316/17

Volvo pipe: 30648890/892, 30730988/42912/42934

It replaces the 3rd hanger from rear ONLY!

1-Pack

It replaces the 3rd hanger from rear ONLY!

* Excl. rubber, ** Incl. rubber

ø60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005051473

Important information

875-2667-6000 *

Walker Bosal Klarius

875-7367-6000 **

VOL-NoOemNo40

0,290

Metal sheet: DC51D, Steel rod: CD9

150.0x150.0x30.0

Metal part (Repl. hanger) Ford Focus II 2.0 TDCi DPF (04-),

Ford Focus CC 2.0 TDCi DPF (06-11),

Ford Focus C-Max 2.0 TDCi DPF (03-),

Volvo C30 I 2.0 TDi DPF (07-),

Volvo C70 II 2.0 TDi DPF (06-11),

Volvo S40 II 2.0 TDi DPF (04-11),

Volvo V50 I 2.0 TDi DPF (04-11)

Ford pipe: 1306766,1368317

Volvo pipe: 30648892, 30742912

1-Pack

It replaces the 4th hanger from rear ONLY!

* Excl. rubber, ** Incl. rubber

ø60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005047674

Important information

875-2668-6000 *

Walker Bosal Klarius

875-7368-6000 **

VOL-NoOemNo18

0,484

(CrIII plated and topcoated with EnSeal®)

Metal sheet: DC01, Steel rod: CD9

Metal part (Repl. hanger) Volvo S60 I (01-10), V70N I (01-07),

XC70N I (01-07), S80 I (98-07)

Some adjustment of angel must be made to

insure the right fitting on Turbo Diesel

and all AWD models!

NOT for R-Line and Bi-Fuel 2WD

1-Pack

For OVAL pipe and for mid section ONLY!

* Excl. rubber, ** Incl. rubber

220.0x250.0x24.0

Size and material

Weight

Pack

Ean No 7330005041849

Important information

877-2660-6000 *

Walker Bosal Klarius

877-7200-6000 **

VOL-30681625

VOL-30681626

80352

0,277

Metal sheet: DC51D, Steel rod: CD9

220.0x170.0x21.0

Metal part (Repl. hanger) Volvo XC90 I (03-14)

For ROUND pipe and for mid section ONLY!

1-Pack

For ROUND pipe and for mid section ONLY!

* Excl. rubber, ** Incl. rubber

ø60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005043881

Important information

877-2663-6000 *

Walker Bosal Klarius

877-7203-6000 **

VOL-NoOemNo09

0,312

Metal sheet: DC51D, Steel rod: CD9

20.0x150.0x27.0

Metal part (Repl. hanger) Volvo S60 I (01-10), V70N I (00-07),

XC70N I (01-07), S80 I (99-06)

1-Pack.

Fits on rear silencer ONLY!

* Excl. rubber, ** Incl. rubber

ø70.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005043805

Important information

877-2665-6000 *

Walker Bosal Klarius

877-7305-6000 **

VOL-NoOemNo5047261

87596

23
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Repair Kit Volvo

0,210

Metal sheet: DC01, Steel rod: DC9

220.0x160.0x50.0

Metal part (Repl. hanger) Volvo XC90 I (03-14)

1-Pack

For rear silencer ONLY!

* Excl. rubber, ** Incl. rubber

(CrIII plated)

Size and material

Weight

Pack

Ean No 7330005045328

Important information

877-2666-6000 *

Walker Bosal Klarius

877-7306-6000 **

VOL-NoOemNo16

80593

0,276

Metal sheet: DX51D, Steel rod: CD9

200.0x150.0x50.0

Metal part (Repl. hanger) Volvo V70III (08-16), S80 II (08-16)

A = Rear (50.0mm) hanger for MID pipe ONLY!

B = Front (50.0mm) hanger for MID pipe ONLY!

Cut the unnecessary part of rod AFTER you

have test fitted the hanger!

1-Pack

For both front & rear hanger on MID pipe ONLY!

* Excl. rubber, ** Incl. rubber

ø50.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005050902

Important information

878-2661-6000 *

Walker Bosal Klarius

878-7201-6000 **

VOL-NoOemNo5050902

0,288

Metal sheet: DX51D, Steel rod: CD9

200.0x150.0x50.0

Metal part (Repl. hanger) Volvo V70N II (08-16), S80 II (08-16)

A = Rear (60.0mm) hanger for MID pipe ONLY!

B = Front (60.0mm) hanger for MID pipe ONLY!

Cut the unnecessary part of the rod AFTER you

have test fitted the hanger!

1-Pack

* Excl. rubber, ** Incl. rubber

ø60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005050858

Important information

878-2662-6000 *

Walker Bosal Klarius

878-7202-6000 **

VOL-NoOemNo5050858

0,298

Metal sheet: DX51D, Steel rod: CD9

200.0x150.0x50.0

Metal part (Repl. hanger) Volvo V70N II (08-), S80 II (08-)

Only for T6 Models!

A = Rear (64.0mm) hanger for MID pipe ONLY!

B = Front (64.0mm) hanger for MID pipe ONLY!

Cut the unnecessary part of rod AFTER you

have test fitted the hanger!

1-Pack

For both front & rear hanger on MID pipe ONLY!

* Excl. rubber, ** Incl. rubber

ø64.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005056911

Important information

878-2665-6000 *

Walker Bosal Klarius

878-7205-6000 **

VOL-NoOemNo5056911

0,380

Metal sheet: DX51D, Steel rod: SS1312

Rubber: Ethylene Propylene Diene Monomer >EPD

Metal part (Repl. hanger) Volvo V70N II (08-), S80 II (08-)

Cars with two rear silencer (Left & Right)

requires 2 sets of this item!

1-Pack

Volvo hanger for both left & right rear silencer!

250.0x210.0x60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005056638

Important information

878-7303-6000

Walker Bosal Klarius

VOL-NoOemNo5056638

81925

0,306

Metal sheet: DC51D, Steel rod: CD9

220.0x250.0x15.0

Metal part (Repl. hanger) Volvo S70 (99-00), V70 (99-00)

1-Pack

Fits on rear silencer ONLY!

* Excl. rubber, ** Incl. rubber

ø54.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005038634

Important information

894-2662-6000 *

Walker Bosal Klarius

894-7202-6000 **

VOL-NoOemNo5047315

80313

0,250

Metal sheet: DC51D, Steel rod: CD9

220.0x250.0x15.0

Metal part (Repl. hanger) Volvo 850 Turbo (93-97), 850 TDi (95-97),

S70 Turbo (96-00), S70 TDi (96-00),

V70 Turbo (96-00), V70 TDi (96-00)

1-Pack

Fits on rear silencer ONLY!

* Excl. rubber, ** Incl. rubber

ø64.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005042327

Important information

894-2663-6000 *

Walker Bosal Klarius

894-7203-6000 **

VOL-NoOemNo12

0,316

Metal sheet: DC51D, Steel rod: CD9

220.0x250.0x15.0

Metal part (Repl. hanger) Upper right rod: Volvo S70 (98-00), V70 (98-00)

Lower right rod: 850 (91-97), S70 (96-97),

V70 (96-97)

Cut the unnecessary part of rod AFTER you

have test fitted the hanger!

1-Pack

Fits on rear silencer ONLY!

* Excl. rubber, ** Incl. rubber

ø60.0 (CrIII plated)

Size and material

Weight

Pack

Ean No 7330005044758

Important information

894-2664-6000 *

Walker Bosal Klarius

894-7204-6000 **

VOL-30681638

80301

0,970

Zn100/275µm (Gal/Zn) or/and (CrIII)

Repair kit for knuckle joint (Compl.) Mercedes C200 (98-03), C220 (97-03),

E200 (98-02), E220 (98-02)

Saab 900 (93-98), 9-3 (98-)

Volvo 850 Turbo (93-97), 960 (90-97),

S70 Turbo (96-00), S90 (97-99),

V70 Turbo (96-00)1-Pack

709-3310 clamp dia. ø66.0 (Pipe clamp ø64.5)

Size and material

Weight

Pack

Ean No 7330005048954

Important information

709-9600

Walker Bosal Klarius

VOL-NoOemNo5048954

24
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust Repair Kit Volvo

0,724

Zn100/275µm (Gal/Zn) or/and (CrIII)

Repair kit for knuckle joint (Compl.) Volvo 850 NOT for turbo engine (91-97),

S70 NOT for turbo engine (96-00),

V70 NOT for turbo engine (96-00)

1-Pack

894-3310 clamp dia. ø52.0 (Pipe clamp ø48.5)

Size and material

Weight

Pack

Ean No 7330005048947

Important information

894-9600

Walker Bosal Klarius

VOL-NoOemNo5048947

0,568

Zn100/275µm (Gal/Zn) or/and (CrIII)

Repair kit for knuckle joint (Female) Mercedes C200 (98-03), C220 (97-03),

E200 (98-02), E220 (98-02)

Saab 900 (93-98), 9-3 (98-)

Volvo 850 Turbo (93-97), 960 (90-97),

S70 Turbo (96-00), S90 (97-99),

V70 Turbo (96-00)1-Pack

709-3310 clamp dia. ø66.0 (Pipe clamp ø64.0)

Size and material

Weight

Pack

Ean No 7330005048206

Important information

709-7200-6001

Walker Bosal Klarius

VOL-NoOemNo5048206

0,418

Zn100/275µm (Gal/Zn) or/and (CrIII)

Repair kit for knuckle joint (Female) Volvo 850 NOT for turbo engine (91-97),

S70 NOT for turbo engine (96-00),

V70 NOT for turbo engine (96-00)

1-Pack

894-3310 clamp dia. ø52.0 (Pipe clamp ø48.5)

Size and material

Weight

Pack

Ean No 7330005048121

Important information

894-7200-6001

Walker Bosal Klarius

VOL-NoOemNo5048121

0,650

Zn100/275µm (Gal/Zn) or/and (CrIII)

Repair kit for knuckle joint (Male) Mercedes C200 (98-03), C220 (97-03),

E200 (98-02), E220 (98-02)

Saab 900 (93-98), 9-3 (98-)

Volvo 850 Turbo (93-97), 960 (90-97),

S70 Turbo (96-00), S90 (97-99),

V70 Turbo (96-00)1-Pack

709-3310 clamp dia. ø66.0 (Pipe clamp ø64.0)

Size and material

Weight

Pack

Ean No 7330005048114

Important information

709-7100-6001

Walker Bosal Klarius

VOL-NoOemNo5048114

0,518

Zn100/275µm (Gal/Zn) or/and (CrIII)

Repair kit for knuckle joint (Male) Volvo 850 NOT for turbo engine (91-97),

S70 NOT for turbo engine (96-00),

V70 NOT for turbo engine (96-00)

1-Pack

894-3310 clamp dia. ø52.0 (Pipe clamp ø48.5)

Size and material

Weight

Pack

Ean No 7330005048176

Important information

894-7100-6001

Walker Bosal Klarius

VOL-NoOemNo5048176

10510

25
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust-Compl. Kit Volvo

0,690

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Ford Focus II "CAT" 1.4, 1.6 (04-12)

Ford Focus C-Max "CAT" 1.6 (03-07)

Eng: FXJA, ASDA/B, HWDA/B, SHDA

Volvo C30 "CAT" 1.6 (06-13)

Volvo S40 II "CAT" 1.6 (04-12)

Volvo V50 1.6 "CAT" (04-12)

Eng: B4164S3

1-Pack

Kit fits both Ford and Volvo!

Size and material

Weight

Pack

Ean No 7330005057031

Important information

865-9160

Walker Bosal Klarius

VOL-NoOemNo5057031

0,680

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Ford Focus II "CAT" 1.6, 1.8, 2.0 (04-12)

Ford Focus C-Max "CAT" 1.6, 1.8, 2.0 (03-10)

Eng: AODA/B/E, AODSIDA, CSDA, C20HD,

C20HDEACNG, HXDA/B, SYDA/CNG,

QQDA/B/C, Q7DA, QQ7A

Volvo C30 "CAT" 1.8, 2.0 (06-13)

Volvo S40 II "CAT" 1.8, 2.0 (04-12)

Volvo V50 "CAT" 1.8, 2.0 (04-12)

Eng: B4184S8/S11, B4204S3/S4

1-Pack

Kit fits both Ford and Volvo!

Size and material

Weight

Pack

Ean No 7330005057048

Important information

865-9162

Walker Bosal Klarius

VOL-NoOemNo5057048

0,640

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Volvo S60 I "CAT" (99-10),

S80 I "CAT" (98-06), V70 II "CAT" (00-07),

XC70 II "CAT" (00-07), XC90 I "CAT" (01-13)

2.3, 2.4T, 2.4 Bifuel, 2.4D, 2.5D, 2.8

Eng: B5204T3/T5, B5234T3/T7, B5244SG/T3/T4/T5,

B5254T2, D5244T/T2/T5, D5252T, B6284T, B6294T

For SINGLE rear silencer

Repair Hanger: 877-7305-6000 & 877-7200-6000

1-Pack

* Compl. kit after Cat, ** MK, last pipe only.

*** MK, 2nd pipe from rear.

Size and material

Weight

Pack

Ean No 7330005045540

Important information

877-9100 *

877-8200 ***

Walker Bosal Klarius

877-8300 **

VOL-NoOemNo5045540

0,755

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Volvo S60 I "CAT" (99-10),

V70 II "CAT" (00-07), S80 I "CAT" (98-06)

2.4i-20v (Eng: B5244S/S2)

Repair Hanger: 877-7305-6000 & 877-7200-6000

1-Pack

* Compl. kit after Cat, ** MK, last pipe only.

*** 2nd pipe from rear, **** 3rd pipe from rear

Size and material

Weight

Pack

Ean No 7330005057918

Important information

877-9102 *

877-8200 ***

Walker Bosal Klarius

877-8300 **

877-8172 ****

VOL-NoOemNo5057918

1,498

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 940 "CAT" 2.0, 2.3 (90-97)

Eng: B200F/GS, B230F/FB/FD/GS

Kit incl. the following bodyband:

1x889-2690, 1x898-2690

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058106

Important information

889-9310 *

897-8302 ***

Walker Bosal Klarius

889-8410 **

897-8202 ****

VOL-NoOemNo5058106

1,498

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 940 "CAT" 2.0, 2.3 (90-98)

Eng: B200FT, B230FT/FK

Kit incl. the following bodyband:

1x889-2690, 1x898-2690

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058120

Important information

889-9313 *

898-8307 ***

Walker Bosal Klarius

889-8410 **

898-8207 ****

VOL-NoOemNo5058120

1,498

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 940 "CAT" 2.0 (93-97)

Eng: B204FT

W/O Multi-Link

Kit incl. the following bodyband:

1x889-2690, 1x898-2690

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058151

Important information

889-9316 *

889-8316 ***

Walker Bosal Klarius

889-8413 **

889-8216 ****

VOL-NoOemNo5058151

1,498

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 940 "CAT" 2.0 (93-97)

Eng: B204FT

WITH Multi-Link

Kit incl. the following bodyband:

1x897-2691, 1x889-2690

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058182

Important information

889-9317 *

889-8317 ***

Walker Bosal Klarius

889-8413 **

VOL-NoOemNo5058182

1,498

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740 "CAT" 2.3-16v GLT (88-93)

Eng: B234F, TSN: 414, Ch.no: 28807-, APP15201-

With Multilink

Volvo 940 "CAT" 2.3-16v GLT (90-93)

Eng: B234F, TSN: 447/54, Ch.no: 28807-, APP15201-

1-Pack

* Standard kit according to picture

** With Volvo clamps

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034452

Important information

889-9360 *

Walker Bosal Klarius

889-9360-4210 **

VOL-NoOemNo5034452

16826

26
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust-Compl. Kit Volvo

1,362

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 960 "CAT" 2.5i-24v, 3.0i-24v (90-97)

Eng: B6254FS, B6304F/G/S/FS, TSN: 449/56

Volvo S/V90 "CAT" 3.0i-24v (97-98)

Eng: B6304S1/2

This kit fits both fixed and loose end pipe.

One bodyband and one clamp can be left over

when this system is mounted.

1-Pack

* Standard kit according to picture

** With Volvo clamps

Zn100/275µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034469

Important information

889-9370 *

Walker Bosal Klarius

889-9370-4210 **

VOL-NoOemNo5034469

16838

16841

257362

257372

257374

1,228

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 142, 144, 145 1.8, 2.0 (67-73)

Eng: B18, B20/A/B/D

1-Pack

* Compl. kit, ** MK, last part only.

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034476

Important information

890-9200 *

Walker Bosal Klarius

890-8400 **

VOL-NoOemNo5034476

06627 259878

0,854

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Volvo 142, 144, 145 1.8, 2.0 (74-76)

Eng: B18, B20A/B/D

Volvo 142, 144, 145 2.0 (77-83)

Eng: B19A

Volvo 242, 244, 245 2.0 (75-77)

Eng: B20A1-Pack

* Compl. kit, ** MK-2nd part from rear only,

*** MK-4th part from rear only

Size and material

Weight

Pack

Ean No 7330005034490

Important information

891-9000 *

891-8170 ***

Walker Bosal Klarius

891-8305 **

VOL-270622

06637 259951

0,536

Ethylene Propylene Diene Monomer >EPDM<

Zn100/275µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Volvo 850 "CAT" 2.0, 2.5 (91-96)

Eng: B5202S/FS, B5204F, B5252F/S, B5254F/S

Volvo S70, V70I "CAT" 2.0, 2.3, 2.4, 2.5 (97-00)

Eng: B5202S/FS, B5234FS, B5244S/S2/SG/SG2

B5252S/FS, GB5252S, B5254S/FS

Rep.Hanger: Ø54=894-7202-6000 or Ø60=894-7204-6000

1-Pack

Wiremesh / Graphite

Size and material

Weight

Pack

Ean No 7330005034605

Important information

894-9100

Walker Bosal Klarius

VOL-NoOemNo5034605

18278

85616

85632

257099

0,572

Ethylene Propylene Diene Monomer >EPDM<

Zn275µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Volvo 850 "CAT" 2.0T, 2.3T5, T5R, AWD (93-96)

Eng: B5204T/FT, B5234FT/T4, B5254T

Volvo 850 "CAT" 2.5Tdi (95-96)

Eng: D5252T

Volvo S/V70 I "CAT" 2.0T, 2.3T/T5, 2.4T, 2.5T

(97-00) Eng: B5204T2/T3/T4, B5234FT/T2/T3/T4/T7

B5244T, B5254T

Volvo S/V70 I "CAT" 2.5Tdi (97-00)

Eng: D5252T

Rep.Hanger: Ø60=894-7204-6000 or Ø64=894-7203-6000

1-Pack

Size and material

Weight

Pack

Ean No 7330005057949

Important information

894-9105

Walker Bosal Klarius

VOL-NoOemNo5057949

21450 257359

0,620

Ethylene Propylene Diene Monomer >EPDM<

Zn100/275µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Volvo S70 "CAT" 2.4, 2.5 (97-00)

Eng: B5244S2/SG/SG2, B5252S/FS,

B5254S/FS, GB5252S

Volvo V70I "CAT" 2.4 (97-00)

Eng: B5244SG/SG2, B5254S/FS

1-Pack

Fits on cars with an additional

silencer at the back.

Size and material

Weight

Pack

Ean No 7330005057444

Important information

894-9110

Walker Bosal Klarius

VOL-NoOemNo5057444

1,268

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 142, 144, 145, 164 2.0i, 3.0 (68-73)

Eng: B20E, B30E

TSN: 330, 406

1-Pack

* Compl. kit, ** MK, last part only.

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034636

Important information

895-9200 *

Walker Bosal Klarius

895-8400 **

VOL-NoOemNo5034636

06633 259882

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Volvo 740 "CAT" 2.0, 2.3 (88-92)

Eng: B200F, B230F, TSN: 412/19/67

Volvo 940 "CAT" 2.0, 2.3 (90-97)

Eng: B200F, B230E/G/FB/FD, TSN: 489/90

1-Pack

* Kit incl. NO bodyband, ** Kit INCL. band (91-92)

*** Kit INCL. band (88-90)

Size and material

Weight

Pack

Ean No 7330005058762

Important information

897-9103 *

897-9302 ***

Walker Bosal Klarius

897-9303 **

VOL-NoOemNo5058762

1,250

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740 "CAT" 2.3 (83-87)

Eng: B23E, B230E/K

TSN: 384/86/97/99, 415/16

1-Pack

* Compl. kit, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034667

Important information

897-9200 *

897-8302 ***

Walker Bosal Klarius

897-8400 **

897-8202 ****

VOL-NoOemNo5034667

08192 259797

27
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust-Compl. Kit Volvo

1,706

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740 2.0, 2.3, 2.3-16v (87-90)

Eng: B200E/K, B204E, B230E/K, B234ES

1-Pack

* Compl. kit, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034674

Important information

897-9201 *

897-8302 ***

Walker Bosal Klarius

897-8402 **

897-8202 ****

VOL-NoOemNo5034674

14917 257546

1,120

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 "CAT" 2.3 Turbo (87)

Eng: B230FT

TSN: 414/20

For DOUBLE endpipes

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034698

Important information

897-9301 *

898-8307 ***

Walker Bosal Klarius

898-8407 **

898-8207 ****

VOL-NoOemNo5034698

14497

1,408

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740 "CAT" 2.0, 2.3 (88-90)

Eng: B200F, B230F

TSN: 467

Kit incl. the following bodyband:

1x897-2690, 1x898-26901-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034704

Important information

897-9302 *

897-8302 ***

Walker Bosal Klarius

897-8402 **

897-8202 ****

VOL-NoOemNo5034704

14496 257547

1,390

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740 "CAT" 2.0, 2.3 (91-92)

Eng: B200F, B230F, TSN: 412/19/67

889-2690 Only for cars made in Sweden

Volvo 940 "CAT" 2.0, 2.3 (90-97)

Eng: B200F, B230E/G/FB/FD, TSN: 489/90

889-2690 Only for cars made in Sweden

Kit incl. the following bodyband:

1x898-2690, 1x898-2691

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034711

Important information

897-9303 *

897-8302 ***

Walker Bosal Klarius

897-8403 **

897-8202 ****

VOL-NoOemNo5034711

19299

1,730

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 "CAT" 2.3 Turbo (88-90)

Eng: B230FT

TSN: 414/20

For DOUBLE endpipes

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034728

Important information

897-9350 *

898-8307 ***

Walker Bosal Klarius

897-8450 **

898-8207 ****

VOL-NoOemNo5034728

15203

1,274

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 2.0, 2.3 Turbo (83-85)

Eng: B200ET, B23ET, B230ET

TSN: 385/98

1-Pack

* Compl. kit, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034766

Important information

898-9203 *

898-8307 ***

Walker Bosal Klarius

898-8403 **

898-8203 ****

VOL-NoOemNo5034766

08169 259815

1,210

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 2.4 TD (83-86)

Eng: D24T

TSN: 413/22

Type: 704762/765, 745762

1-Pack

* Compl. kit, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034780

Important information

898-9205 *

898-8307 ***

Walker Bosal Klarius

898-8405 **

898-8203 ****

VOL-NoOemNo5034780

09654 259988

1,106

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 2.4 TD (87)

Eng: D24T

TSN: 413

Type: 744852, 745752/62, 777762

1-Pack

* Compl. kit, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034797

Important information

898-9206 *

898-8306 ***

Walker Bosal Klarius

898-8406 **

898-8206 ****

VOL-NoOemNo5034797

14520 257092

1,400

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 2.0, 2.3 Turbo (86-87)

Eng: B200ET, B230ET

TSN: 398

For DOUBLE endpipes

1-Pack

* Compl. kit, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034803

Important information

898-9207 *

898-8307 ***

Walker Bosal Klarius

898-8407 **

898-8207 ****

VOL-NoOemNo5034803

13463

28
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust-Compl. Kit Volvo

1,166

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 2.4 TD Intercooler (86-87)

Eng: D24Tic

Type: 740762/65, 745762

1-Pack

* Compl. kit, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034810

Important information

898-9208 *

898-8306 ***

Walker Bosal Klarius

898-8406 **

898-8206 ****

VOL-NoOemNo5034810

14521 257088

1,042

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740 "CAT" 2.3 (86-97)

Eng: B230F

TSN: 386/393, 412

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034827

Important information

898-9304 *

897-9302 ***

Walker Bosal Klarius

897-8400 **

897-8202 ****

VOL-NoOemNo5034827

14493

1,126

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 "CAT" 2.3 Turbo (87)

Eng: B230FT

TSN: 414/20

For SINGLE endpipe

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034834

Important information

898-9309 *

898-8307 ***

Walker Bosal Klarius

899-8404 **

898-8207 ****

VOL-NoOemNo5034834

14867

1,584

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 "CAT" 2.3 Turbo (88-90)

Eng: B230FT, TSN: 420

W/O Multilink

Volvo 940 "CAT" 2.0, 2.3 Turbo (90-98)

Eng: B200FT, B204FT, B230FT/FK

W/O Multilink

Kit incl. not the following bodyband:

889-2690 (Oem: 9161369, 3507103)

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034841

Important information

898-9310 *

898-8307 ***

Walker Bosal Klarius

898-8410 **

898-8207 ****

VOL-NoOemNo5034841

16328

1,470

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 940 "CAT" 2.3 Turbo (90-97)

Eng: B230FK/FT

TSN: 420

W/O Multilink

889-2690 Only for cars made in Sweden

Kit incl. not the following bodyband:

889-2690 (Oem: 9161369, 3507103)

1-Pack

* Standard kit according to picture

** With Volvo clamps

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034858

Important information

898-9311 *

Walker Bosal Klarius

898-9311-4210 **

VOL-NoOemNo5034858

19729 257084

1,296

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740, 760 2.0, 2.3 Turbo (86-87)

Eng: B200ET, B230ET

TSN: 398

For SINGLE endpipe

1-Pack

* Compl. kit, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034902

Important information

899-9204 *

898-8307 ***

Walker Bosal Klarius

899-8404 **

898-8207 ****

VOL-NoOemNo5034902

13464 257080

1,486

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 760 "CAT" 2.8i (88-90)

Eng: B280F, TSN: 425

Volvo 780 "CAT" 2.8i (87-90)

Eng: B280FS

1-Pack

* Standard kit according to picture

** With Volvo clamps

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034957

Important information

899-9320 *

Walker Bosal Klarius

899-9320-4210 **

VOL-NoOemNo5034957

14517 257094

1,470

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Volvo 740 "CAT" 2.3-16v GLT (88-93)

Eng: B234F, TSN: 414/15/45

Volvo 760 "CAT" 2.8i (88-90)

Eng: B280F, TSN: 430

Volvo 940 "CAT" 2.3-16v GLT (90-93)

Eng: B234F, TSN: 447/54, Ch.no: -28806, -APP15200

Kit incl. not the following bodyband:

889-2690 (Oem: 9161369, 3507103)

1-Pack

* Compl. kit after Cat, ** MK, 2nd pipe from rear.

*** 3rd pipe from rear, **** 4th pipe from rear

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005034964

Important information

899-9321 *

897-8302 ***

Walker Bosal Klarius

897-8403 **

898-8207 ****

VOL-NoOemNo5034964

14518

29
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust-Mini CAT Kit Volvo

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for Cat Supplement kit intended for the following kit:

877-9100

See right column for suitable CAT.

1-Pack

Steel / Graphite / Steel

Size and material

Weight

Pack

Ean No 7330005057192

Important information

875-8102

Walker Bosal Klarius

VOL-CAT36000187

VOL-CAT8603078

87491

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for Cat Supplement kit intended for the following kit:

877-9100

See right column for suitable CAT.

1-Pack

* Will be replaced by 877-8172.

Steel / Graphite / Steel

Size and material

Weight

Pack

Ean No 7330005057932

Important information

877-8102 *

Walker Bosal Klarius

VOL-CAT8603058

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for Cat Supplement kit intended for the following kit:

877-9100

Fits on Volvo Cat:

30622077, 30633080,

8603055/60/62/71/89/98, 86031/56/58, 8603220,

8603843/46, 8627550,

8642179, 8642987, 8670220, 8677683

1-Pack

Steel / Graphite / Steel

Size and material

Weight

Pack

Ean No 7330005057178

Important information

877-8105

Walker Bosal Klarius

VOL-NoOemNo5057178

87502

0,000

Zn100/275µm (Gal/Zn) or/and (CrIII)

Wiremesh / Graphite

Assembling kit for Cat Supplement kit intended for the following kit:

894-9100

See right column for suitable CAT.

1-Pack

Fits on cars W/O E.G.R

Size and material

Weight

Pack

Ean No 7330005034612

Important information

894-8100

Walker Bosal Klarius

VOL-CAT1275690

VOL-CAT1275696

VOL-CAT1367278

VOL-CAT6842354

VOL-CAT8603017

VOL-CAT9135049

401730

0,000

Zn100/275µm (Gal/Zn) or/and (CrIII)

Wiremesh / Graphite

Assembling kit for Cat Supplement kit intended for the following kit:

894-9100

See right column for suitable CAT.

1-Pack

Cars WITH E.G.R.     ChNo: 4DRS: -290073,

4DRS: -288791, 5DRS: -197207

Size and material

Weight

Pack

Ean No 7330005057956

Important information

894-8101

Walker Bosal Klarius

VOL-CAT1275421

VOL-CAT8602985

VOL-CAT8603023

VOL-CAT9146685

VOL-CAT9202456

401773

0,000

Zn100/275µm (Gal/Zn) or/and (CrIII)

Wiremesh / Graphite

Assembling kit for Cat Supplement kit intended for the following kit:

894-9100

See right column for suitable CAT.

1-Pack

Cars WITH E.G.R.     ChNo: 4DRS: 290074-,

4DRS: 288792-, 5DRS: 197208-

Size and material

Weight

Pack

Ean No 7330005057963

Important information

894-8102

Walker Bosal Klarius

VOL-CAT1271280

VOL-CAT1271780

VOL-CAT8603022

VOL-CAT9202455

VOL-CAT9205571

VOL-CAT9445331

87437 402049

0,000

Zn100/275µm (Gal/Zn) or/and (CrIII)

Wiremesh / Graphite

Assembling kit for Cat Supplement kit intended for the following kit:

894-9105

See right column for suitable CAT.

1-Pack

Size and material

Weight

Pack

Ean No 7330005057987

Important information

894-8105

Walker Bosal Klarius

VOL-CAT1275158

VOL-CAT8602993

VOL-CAT9155731

0,326

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for Cat Supplement kit intended for the following kit:

889-9310,

897-9302, 897-9303, 898-9304

See right column for suitable CAT.

1-Pack

Size and material

Weight

Pack

Ean No 7330005041924

Important information

897-8102

Walker Bosal Klarius

VOL-CAT13323837

VOL-CAT1389966

VOL-CAT3507759

VOL-CAT3531256

VOL-CAT3531401

VOL-CAT4800068

VOL-CAT8602947

VOL-CAT8603144

19249 091660

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for Cat Supplement kit intended for the following kit:

889-9360, 897-9301, 897-9350,

898-9310, 899-9321

See right column for suitable CAT.

1-Pack

Size and material

Weight

Pack

Ean No 7330005041917

Important information

898-8111

Walker Bosal Klarius

VOL-CAT1326481

VOL-CAT1367865

VOL-CAT3517495

VOL-CAT3517612

VOL-CAT3531050

VOL-CAT8602948

VOL-CAT8602955

VOL-CAT9179359

21668

30
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust-Mini Kit Volvo

0,470

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

See right column for suitable PIPE.

1-Pack

* Standard kit according to picture

** With Volvo clamp

Size and material

Weight

Pack

Ean No 7330005021629

Important information

865-8200 *

Walker Bosal Klarius

865-8200-4210 **

VOL-30854941

85383

0,236

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Volvo Amazon 1.8, 2.0 (62-71)

P120, P121, P122S, P123GT, P130, P220

Eng. B18A/D, B20

TSN: 324/25

1-Pack

* Standard kit according to picture

** With Volvo clamp

Size and material

Weight

Pack

Ean No 7330005038696

Important information

871-8200 *

Walker Bosal Klarius

871-8200-4210 **

VOL-273103

09656

85137

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

877-9102

See right column for suitable PIPE.

1-Pack

Size and material

Weight

Pack

Ean No 7330005057925

Important information

877-8172

Walker Bosal Klarius

VOL-PIPE9202267

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

877-9100, 877-9102

1-Pack

Size and material

Weight

Pack

Ean No 7330005043089

Important information

877-8200

Walker Bosal Klarius

VOL-NoOemNo5045694

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

877-9100, 877-9102

1-Pack

Size and material

Weight

Pack

Ean No 7330005045700

Important information

877-8300

Walker Bosal Klarius

VOL-NoOemNo5045700

86031

86032

86258

093197

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

889-9316

See right column for suitable PIPE.

Kit incl. the following bodyband:

898-2690

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058144

Important information

889-8216

Walker Bosal Klarius

VOL-PIPE3531779

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

889-9316

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058168

Important information

889-8316

Walker Bosal Klarius

VOL-PIPE1378248

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

889-9317

See right column for suitable PIPE.

Kit incl. the following bodyband:

897-2691

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058199

Important information

889-8317

Walker Bosal Klarius

VOL-PIPE3531781

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

889-9310

See right column for suitable PIPE.

Kit incl. the following bodyband:

889-2690

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058113

Important information

889-8410

Walker Bosal Klarius

VOL-PIPE1378694

VOL-PIPE3531670

31
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust-Mini Kit Volvo

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

889-9313, 889-9316, 889-9317

See right column for suitable PIPE.

Kit incl. the following bodyband:

889-2690

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058137

Important information

889-8413

Walker Bosal Klarius

VOL-PIPE1378696-
8892690

VOL-PIPE3531672-
8892690

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

890-9200

1-Pack

Size and material

Weight

Pack

Ean No 7330005038740

Important information

890-8400

Walker Bosal Klarius

VOL-NoOemNo5038740

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

891-9000

1-Pack

Size and material

Weight

Pack

Ean No 7330005057901

Important information

891-8170

Walker Bosal Klarius

VOL-NoOemNo5057901

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

891-9005

1-Pack

Size and material

Weight

Pack

Ean No 7330005057895

Important information

891-8175

Walker Bosal Klarius

VOL-NoOemNo5057895

85815 091090

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

891-9005

1-Pack

Size and material

Weight

Pack

Ean No 7330005038771

Important information

891-8305

Walker Bosal Klarius

VOL-NoOemNo5038771

85036 094024

0,000

Ethylene Propylene Diene Monomer >EPDM<

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

895-9200

1-Pack

Size and material

Weight

Pack

Ean No 7330005038849

Important information

895-8400

Walker Bosal Klarius

VOL-NoOemNo5038849

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

889-9310,

897-9200, 897-9201, 897-9302,

897-9303

See right column for suitable PIPE.1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005041955

Important information

897-8202

Walker Bosal Klarius

VOL-PIPE1332524

VOL-PIPE1332553

VOL-PIPE1357070

VOL-PIPE1378341

VOL-PIPE1878341

85812 096032

0,000

Zn100µm (Gal/Zn) or/and (CrIII)

Assembling kit for exhaust system Part in the following kit:

889-9310, 897-9200, 897-9201,

897-9302, 897-9303, 899-9321

See right column for suitable PIPE.

1-Pack

Size and material

Weight

Pack

Ean No 7330005041962

Important information

897-8302

Walker Bosal Klarius

VOL-PIPE1332523

VOL-PIPE1357069

VOL-PIPE1357089

VOL-PIPE9155408

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

897-9200

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005042112

Important information

897-8400

Walker Bosal Klarius

VOL-PIPE1332539

VOL-PIPE1357068

85019

32
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust-Mini Kit Volvo

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

897-9201, 897-9302

See right column for suitable PIPE.

Kit incl. not the following bodyband:

889-2690 (Oem: 9161369, 3507103)

1-Pack

Incl. 897-2690 (Oem: 3514919, 3514922)

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005041979

Important information

897-8402

Walker Bosal Klarius

VOL-PIPE1332539-1

VOL-PIPE1357068-1

VOL-PIPE1378694-1

VOL-PIPE3531670-185070-1

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

897-9301, 897-9303, 899-9321

See right column for suitable PIPE.

Kit incl. not the following bodyband:

889-2690 (Oem: 9161369, 3507103)

1-Pack

Incl. 898-2691 (Oem: 3514916, 1271256)

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005042167

Important information

897-8403

Walker Bosal Klarius

VOL-PIPE1332539-2

VOL-PIPE1357068-2

VOL-PIPE1378694-2

VOL-PIPE3531670-285070-2

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

897-9250, 897-9350

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005042099

Important information

897-8450

Walker Bosal Klarius

VOL-PIPE3531671

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

898-9203, 898-9205

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005042020

Important information

898-8203

Walker Bosal Klarius

VOL-PIPE1332366

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

898-9206, 898-9208

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005042259

Important information

898-8206

Walker Bosal Klarius

VOL-PIPE1328966

VOL-PIPE1336309

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

889-9313,

897-9250, 897-9301, 898-9207,

898-9309, 898-9310, 899-9204,

899-9321

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005042051

Important information

898-8207

Walker Bosal Klarius

VOL-PIPE1274853

VOL-PIPE1378253

VOL-PIPE3531554

VOL-PIPE353602685814

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

898-9206, 898-9208

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058083

Important information

898-8306

Walker Bosal Klarius

VOL-PIPE9135452

VOL-PIPE9155407

VOL-PIPE9454662

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

889-9313,

897-9250, 897-9301, 898-9203,

898-9205, 898-9207, 898-9309,

898-9310, 899-9204

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005042068

Important information

898-8307

Walker Bosal Klarius

VOL-PIPE1332393

VOL-PIPE1378186

VOL-PIPE1378535

VOL-PIPE915540985444

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

898-9203

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058069

Important information

898-8403

Walker Bosal Klarius

VOL-PIPE464986

33
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Exhaust-Mini Kit Volvo

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

898-9205

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058076

Important information

898-8405

Walker Bosal Klarius

VOL-PIPE1378237

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

898-9206, 898-9208

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005058090

Important information

898-8406

Walker Bosal Klarius

VOL-PIPE9142007

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

897-9301, 898-9207

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005021667

Important information

898-8407

Walker Bosal Klarius

VOL-PIPE1378258

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

898-9310

See right column for suitable PIPE.

Kit incl. the following bodyband:

898-2691

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005042105

Important information

898-8410

Walker Bosal Klarius

VOL-PIPE1378696-
8982691

VOL-PIPE3531672-
8982691

85274

0,000

Ethylene Propylene Diene Monomer >EPDM<

Body band is CrIII + topcoated with EnSeal®

Assembling kit for exhaust system Part in the following kit:

898-9309, 899-9204

See right column for suitable PIPE.

1-Pack

Zn100µm (Gal/Zn) or/and (CrIII)

Size and material

Weight

Pack

Ean No 7330005042082

Important information

899-8404

Walker Bosal Klarius

VOL-PIPE1271261

VOL-PIPE3514919

34
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



Other items (Brake Fittings) Volvo

0,196

(CrIII plated)

220.0x170.0x15.0

Cablelink for handbrake For Volvo 700 and 900 ONLY!

1-Pack

ø60.0

Size and material

Weight

Pack

Ean No 7330005042693

Important information

897-2840-6000

Walker Bosal Klarius

VOL-NoOemNo5042693

35
All dimensions are approximate due to different manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.
Every effort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight
is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2020- EibAB, Sweden (www.eibab.se)
Managing editor: Kjell Niemeyer



36
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Kapitel: 2 / Chapter: 2

1. Avgasupphängningar / Exhaust hangers

Volvo C30 I, S40 II & V50 I (1.6, 1.8, 2.0)_____________________________________________________________36

Volvo C30 I, S40 II & V50 I (1.6TD)__________________________________________________________________37

Volvo C30 I, S40 II & V50 I, C70II (2.0 TDi)___________________________________________________________38

Volvo C30 I, S40 II & V50 I, C70II (2.4, 2.4D 2.5T)_____________________________________________________39

Volvo C30 I, S40 II & V50 I, C70II (Hanger for catalytic converter)_________________________________________40

Volvo S60 I, V70 II, XC70 II, S80 I___________________________________________________________________41

Volvo V70 III, XC70 III, S80 II_____________________________________________________________________42-44

Volvo XC90 I____________________________________________________________________________________45

Volvo 700 & 900_________________________________________________________________________________46

Volvo 850, S70, V70 I_________________________________________________________________________47-48

Reparationsstag för rör & dämpare / Repair rods for pipe & silencer (Universal)___________________________49-50

Klammrar, skarvrör etc... / Clamps, connectors etc... (Universal)_________________________________________51

2. Broms / Brakes

Volvo 700 & 900_________________________________________________________________________________52

3. Avgasfl änsar / Exhaust fl anges

Volvo 700 & 900_________________________________________________________________________________52

Teckenförklaring / Key to symbols

Art. nr. / Item No:

877-2660-6000

W/O Rubber With Rubber

S60 I (01-07),
V70 II (01-07),

XC70 II (01-07),

S80 I (98-06)

Art. nr. / Item No:

877-7200-6000

Brand name, model, engine, Pipe etc...Same hanger but with or without (W/O) rubber mountings.

Item No. 

Shows where this item is to be mounted and 
must correspond to the number shown on 

drawing below

3

F

?

Indicates which side of the
car this part is to be fi tted.
(Seen from the driver's perspective).

* Right side

F Mid

) Left side

Yellow arrow shows exhaust gas fl ow

Innehållsförteckning med sidangivelse, kapitel: 2

Table of contents with page reference, chapter: 2



37
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo C30I, S40II & V50I

Volvo C30I 1,6i, 1.8i, 2.0i (06-13)

Volvo S40II 1.6i, 1.8i, 2.0i (04-11)

Volvo V50I 1.6i, 1.8i, 2.0i (04-11)

m: B4164S3, B4184S8/S11, B4204S3/S4

´: Volvo: 30681697/698/749, 30793876/878

Clamp: ø48.0Art. nr. / Item No:

865-2660-6000

Volvo C30I 1.6i, 1.8i, 2.0i (06-13)

Volvo S40II 1.6i, 1.8i, 2.0i (04-11)

Volvo V50I 1.6i, 1.8i, 2.0i (04-11)

Ford Focus Models

m: B4164S3, B4184S8/S11, B4204S3/S4

´: Ford: 1234018, 1253560, 1307934/6076, 1329718, 

1333988/3989/9625, 1340657/668, 1364171/72, 1677746/51

´: Volvo: 30681700, 30681701

Clamp: ø48.0
Art. nr. / Item No:

865-2661-6000

Volvo C30I 1.6i, 1.8i, 2.0i (06-13)

Volvo S40II 1.6i, 1.8i, 2.0i (04-11)

Volvo V50I 1.6i, 1.8i, 2.0i (04-11)

Ford Focus Models

m: B4164S3, B4184S8/S11, B4204S3/S4

´: Ford: 1234018, 1253560, 1307934/6076, 1329718, 

1333988/3989/9625, 1340657/668, 1364171/72, 1677746/51

´: Volvo: 30681700, 30681701

Clamp: ø48.0
Art. nr. / Item No:

865-2662-6000

3
?

W/O Rubber With Rubber

Art. nr. / Item No:

865-7351-6000

1
?

2
?

W/O Rubber

W/O Rubber

With Rubber

With Rubber

Art. nr. / Item No:

865-7350-6000

Art. nr. / Item No:

865-7450-6000

?

048-2770

515-4110

?1
2

3
?

General Picture



38
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo C30I, S40II & V50I

Volvo C30I 1.6 TD (07-)

Volvo S40II 1.6 TD (04-11)

Volvo V50I 1.6 TD (04-11)

Ford Focus and Mazda Models

m: D4162T, D4164T

´: Ford: 1349856, 1349857, 1364100, 1677756 

´: Mazda: Y60140300B, Y60140300C, Y60140300D 

´: Volvo: 30636975, 31321609   Clamp: ø54.0
Art. nr. / Item No:

865-2666-6000

Volvo C30I 1.6 TD (07-)

Volvo S40II 1.6 TD (04-11)

Volvo V50I 1.6 TD (04-11)

m: D4162T, D4164T

´: Volvo: 30741884, 30793511

Clamp: ø54.0Art. nr. / Item No:

865-2665-6000

Volvo C30I 1.6 TD (07-)

Volvo S40II 1.6 TD (04-11)

Volvo V50I 1.6 TD (04-11)

Ford Focus and Mazda Models

m: D4162T, D4164T

´: Ford: 1349856, 1349857, 1364100, 1677756 

´: Mazda: Y60140300B, Y60140300C, Y60140300D 

´: Volvo: 30636975, 31321609   Clamp: ø54.0
Art. nr. / Item No:

865-2667-6000

3

2

1

?

?

?

W/O Rubber

W/O Rubber

W/O Rubber

With Rubber

With Rubber

With Rubber

Art. nr. / Item No:

865-7367-6000

Art. nr. / Item No:

865-7365-6000

Art. nr. / Item No:

865-7465-6000

?

055-2770

585-4110

1
2

3
?

General Picture



39
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo C30I, S40II, V50I & C70II

Volvo C30I 2.0 TDi (07-)

Volvo S40II 2.0 TDi (04-11)

Volvo V50I 2.0 TDi (04-11)

Volvo C70II 2.0 TDi (07-11)

Ford Focus Models

m: D4204T/T2

´: Ford: 1234442, 1253561, 1306766, 1368316/17, 1677757/58

´: Volvo: 30648890/92, 30730988/42912/42934

Clamp: ø60.0
Art. nr. / Item No:

875-2667-6000

Volvo C30I 2.0 TDi DPF (07-)

Volvo C70II 2.0 TDi DPF (06-11)

Volvo S40II 2.0 TDi DPF (04-11)

Volvo V50I 2.0 TDi DPF (04-11)

Volvo C70II 2.0 TDi (07-11)

Ford Focus Models

m: D4204T/T2

´: Ford: 1306766, 1368317, 1677758

´: Volvo: 30648892, 30742912   Clamp: ø60.0
Art. nr. / Item No:

875-2668-6000

3

4

?

?

W/O Rubber

W/O Rubber

With Rubber

With Rubber

With Rubber

With Rubber

Art. nr. / Item No:

875-7367-6000

Art. nr. / Item No:

875-7368-6000

Volvo C30I 2.0 TDi (07-)

Volvo S40II 2.0 TDi (04-11)

Volvo V50I 2.0 TDi (04-11)

Volvo C70II 2.0 TDi (07-11)

m: D4204T/T2

´: Volvo: 30648891, 30676804,

30741885, 30742933, 30793283/880

Clamp: ø60.0
Art. nr. / Item No:

875-2665-6000

Volvo C30I 2.0 TDi (07-)

Volvo S40II 2.0 TDi (04-11)

Volvo V50I 2.0 TDi (04-11)

Volvo C70II 2.0 TDi (07-11)

Ford Focus Models

m: D4204T/T2

´: Ford: 1234442, 1253561, 1306766, 1368316/17, 1677757/58

´: Volvo: 30648890/92, 30730988/42912/42934

Clamp: ø60.0
Art. nr. / Item No:

875-2666-6000

W/O Rubber

W/O Rubber

?

060-2770

645-4110

2

1

?

?

Art. nr. / Item No:

875-7365-6000

Art. nr. / Item No:

875-7465-6000

?1
2

3
?

4

General Picture



40
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo C30I, C70II, S40II & V50I

Volvo C30I 2.4, 2.4D, 2.5T (07-12)

Volvo C70II 2.4, 2.4D, 2.5T (06-11)

Volvo S40II 2.4, 2.4D, 2.5T (04-11)

Volvo V50 I 2.4, 2.4D, 2.5T (04-11)

m: B5244S4/S5, B5254T7, D5244T8/T9/T13/TX

´: Volvo: 30730681/88/90, 30793176/177/180/181, 30794714, 

31261382/383/683/684/685, 31305143

Clamp: ø58.0
Art. nr. / Item No:

874-2660-6000

Volvo C30I 2.4, 2.4D, 2.5T (07-12)

Volvo C70II 2.4, 2.4D, 2.5T (06-10)

Volvo S40II 2.4, 2.4D, 2.5T (04-10)

Volvo V50 I 2.4, 2.4D, 2.5T (04-10)

m: B5244S4/S5, B5254T7, D5244T8/T9/T13/TX

´: Volvo: 30730681/88/90, 30793176/177/180/181, 30794714, 

31261237/382/383/683/684/685, 31280442, 31305143, 31321206

Clamp: ø58.0
Art. nr. / Item No:

874-2661-6000

Volvo C30I 2.4, 2,4D (06-12)

Volvo C70II 2.4, 2,4D (06-09)

Volvo S40II 2.4, 2,4D (04-10)

Volvo V50I 2.4, 2,4D (04-10)

m: B5244S4/S5, D5244T8/T9/T13/TX

´: Volvo: 30730680/81/87, 31305196

Clamp: ø60.0
Art. nr. / Item No:

874-2662-6000

Volvo C30I 2.4, 2,4D (06-12)

Volvo C70II 2.4, 2,4D (06-09)

Volvo S40II 2.4, 2,4D (04-10)

Volvo V50I 2.4, 2,4D (04-10)

m: B5244S4/S5, D5244T8/T9/T13/TX

´: Volvo: 30730680/81/87, 31305196

Clamp: ø60.0
Art. nr. / Item No:

874-2663-6000

?
3

2

1

W/O Rubber
1
?

)

2
?

*

3
?

4
?

Art. nr. / Item No:

874-7410-6000

Art. nr. / Item No:

874-7411-6000

Art. nr. / Item No:

874-7312-6000

Art. nr. / Item No:

874-7313-6000

With Rubber

W/O Rubber

W/O Rubber

W/O Rubber

With Rubber

With Rubber

With Rubber

3

4

?

060-2770

645-4110

(2)

000-5252 043-1500

General Pictures



41
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Rep.fäste & gummi till kat. / Repair fi ttings & rubber for cat.

Volvo C30I, S40II, V50I & C70II

Art. nr. / Item No:

865-2664-6000

W/O Rubber

1
?

Volvo C30I 1.6i 1.8i, 2.0i (07-13)

Volvo C70II 2.4S, 2.5T (06-11)

Volvo S40II 1.6i 1.8i, 2.0i (04-12)

Volvo V501.6i 1.8i, 2.0i (04-12)

m: B4164S3, B4184S8, B4184S11, B4204S3

Clamp: ø58.0
With Rubber

Art. nr. / Item No:

865-7164-6000

Bygeln skall monteras FRAMFÖR den gamla svetsfogen!

Shackle must be mounted IN FRONT of old welding seam!

General Picture1



42
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo S60I, V70II, XC70II & S80I

Art. nr. / Item No:

877-2665-6000

Art. nr. / Item No:

877-2660-6000

?

Art. nr. / Item No:

877-7305-6000

W/O Rubber With Rubber

1
?

S60I (01-07)

V70II (01-07)

XC70II (01-07)

S80I (98-06)

W/O Rubber With Rubber

2
?

S60I (01-07)

V70II (01-07)

XC70II (01-07)

S80I (98-06)

Art. nr. / Item No:

877-7200-6000

1

2

General Picture

?

060-2770

645-4110



43
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo V70III, XC70III & S80II

V70 III 2.0 (08-12)

m: B4204S3 (107kW, 145HP.)

V70 III 2.0 FlexiFuel (08-12)

m: B4204S4 (107kW, 145HP.)

S80 II 2.0 (07-12)

m: B4204S3 (107kW, 145HP.)

S80 II 2.0 FlexiFuel (07-12)

m: B4204S4 (107kW, 145HP.)

Clamp: ø52.0Art. nr. / Item No:

878-2661-6000

V70 III (08-16)

XC70 III (08-16)

S80 II (07-16)

All models except for
m: B4204S3/S4, B6304T2/T4

Clamp: ø60.0
Art. nr. / Item No:

878-2662-6000

?

?

3

V70 III (08-16) All Models

XC70 III (08-16) All Models

S80 II (07-16) All Models

Art. nr. / Item No:

878-7303-6000

För bilar med två bakre 

dämpare (vänster & höger) 

krävs det 2 st. monterings-

satser av

878-7303-6000!

Cars with two rear silencer 

(Left & Right) requires 2 

sets of

878-7303-6000!

3
*

*

?

General Pictures

3

1.2

1.1

1.1

1.2

878-5972                                                       (Engineered by Kjell Niemeyer) Made by eibab.se in Sweden

21




1.2

??

065-2770050-2770

695-4110545-4110

?

?

Art. nr. / Item No:

878-7201-6000

Art. nr. / Item No:

878-7202-6000

Art. nr. / Item No:

874-7312-6000

With Rubber

With Rubber

With Rubber

W/O Rubber

W/O Rubber



44
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo V70III, XC70III & S80II

1

2

2

V70 III 3.0i T6 (08-16)

m: B6304T2/T4

XC70 III 3.0i T6 (08-16)

m: B6304T2/T4

S80 II 3.0i T6 (07-16)

m: B6304T2/T4

Clamp: ø64.0

V70 III (08-16) All Models

XC70 III (08-16) All Models

S80 II (07-16) All Models

Art. nr. / Item No:

878-7303-6000

Det krävs 2 st.

monteringssatser av

878-7303-6000!

En för vänster och

en för höger dämpare!

It requires 2 sets

of 878-7303-6000!

One for the left and

one for the right

silencer!

(6) 000-5692 877-1301

Art. nr. / Item No:

878-2665-6000

2
*

*

1

1

General Picture

21

065-2770050-2770

695-4110545-4110

Art. nr. / Item No:

878-7205-6000

W/O Rubber

?

With Rubber



45
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo V70III, XC70III & S80II

V70 III 3.2i (08-16)

XC70 III 3.2i (08-16)

S80 II 3.2i (07-16)

Clamp: ø60.0

V70 III (08-16) All Models

XC70 III (08-16) All Models

S80 II (07-16) All Models

Art. nr. / Item No:

878-7303-6000

Det krävs 2 st.

monteringssatser av

878-7303-6000!

En för vänster och

en för höger dämpare!

It requires 2 sets

of 878-7303-6000!

One for the left and

one for the right

silencer!

1.2

2

1

(6) 000-5692 877-1301

2
*

*

1.2

1.1

1.1

2

1

2

2
General Pictures

878-5972                                                       (Engineered by Kjell Niemeyer) Made by eibab.se in Sweden

21




1.2

21

060-2770050-2770

645-4110545-4110

Art. nr. / Item No:

878-2662-6000

?

Art. nr. / Item No:

878-7202-6000

With RubberW/O Rubber



46
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo XC90I

Volvo XC90I 2.4D, 2.5T (02-14)

m: B5254T2, B6294T, D5244T4/T5/T18

´: Volvo: 30645017, 30733/077/165/369, 30793316, 31201881/85, 

31303628, 31355301/02/11, 3137039

Clamp: ø60.0

Art. nr. / Item No:

877-2663-6000

Art. nr. / Item No:

877-2666-6000

Volvo XC90I 2.4D, 2.5T (02-14)

m: B5254T2, B6294T, D5244T4/T5/T18

´: Volvo: 30645017, 30733/077/165/369, 30793316, 31201881/85, 

31303628, 31355301/02/11, 3137039

?

General Pictures

?

060-2770

645-4110

1
?

2
?

With Rubber

W/O Rubber With Rubber

W/O Rubber

Art. nr. / Item No:

877-7203-6000

Art. nr. / Item No:

877-7306-6000

1

2



47
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen till / Repair fi ttings for

Volvo 700 & 900

740 made in Sweden (91-

92),

940 made in Sweden (91-

97),

960 (95-97),

S/V90 (97-99)

Oval body band with in line 

hooks Art. nr. / Item No:

889-2690

760 4-door and with multilink 

(88-90), 780 with engine: 

B200FT (87-90), 940 with 

multilink (90-94), 960 with 

multilink (90-97), S90 (97-

99), V90 (97-99)

Art. nr. / Item No:

897-2691

760 4-door (88-90),

780 (87-90),

940 with multilink

(90-94)

Oval body band with in line 

hooks Art. nr. / Item No:

898-2691

1

3

5

740 (85-93),

760 (85-93),

940 (90-97),

960 (90-97)

Oval body band with off  set 

hooksArt. nr. / Item No:

897-2690

740 (84-93),

760 (83-93),

780 (86-90),

940 (90-97),

960 (90-97)

Art. nr. / Item No:

898-2690

2

4

Art. nr. / Item No:

(2) 899-1010

1

1 x2

General Pictures

Oval

Round

21 5
3 4

2 x2

Art. nr. / Item No:

(2) 898-1012

2



48
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsfästen & gummi till / Repair fi ttings & rubber for

Volvo 850, S70 & V70I

S70 (99-00)

V70I (99-00)

Clamp: ø54.0

Art. nr. / Item No:

894-2662-6000

Art. nr. / Item No:

894-2664-6000

850 Turbo (93-97)

850 TDi (95-97)

S70 Turbo (96-00)

S70 TDi (96-00)

V70I Turbo (96-00)

V70I TDi (96-00)

Clamp: ø64.0

Art. nr. / Item No:

894-2663-6000

Upper rod:

S70 (98-00), V70I (98-00)

Lower rod:

850 (91-97), S70 (96-97),

V70I (96-97)

Clamp: ø60.0

Art. nr. / Item No:

894-4310-6000

Art. nr. / Item No:

894-4310-6000

Art. nr. / Item No:

709-4310-6000

1

2

?

2

General Pictures

?

048-2770

515-4110

1

1

1

?

?

?

Art. nr. / Item No:

894-7202-6000

Art. nr. / Item No:

894-7203-6000

Art. nr. / Item No:

894-7204-6000

Art. nr. / Item No:

(2) 894-1010
Art. nr. / Item No:

(2) 899-1010

2

2

1
1

2

2

2



49
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsrör till katalysator / Repair pipe for catalytic converter

Volvo 850, S70 & V70I

Art. nr. / Item No:

894-1750

850 (91-97)

NOT for turbo engine

S70 (96-00)

NOT for turbo engine

V70I (96-00)

NOT for turbo engine

Volvo 850 Turbo (93-97)

Volvo 960 (90-97)

Volvo S70 Turbo (96-00)

Volvo S90 (97-99)

Volvo V70I Turbo (96-00)

Art. nr. / Item No:

894-4310-6000

ø52.0 

Art. nr. / Item No:

894-1751
Art. nr. / Item No:

894-9600

Art. nr. / Item No:

709-1750
Art. nr. / Item No:

709-4310-6000
Art. nr. / Item No:

709-1751
Art. nr. / Item No:

709-9600

General Pictures

!

ø66.0 



50
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Reparationsstag för rör & dämpare / Repair rods for pipe & silencer

Universal

A B C D E F G

Type:   A                      B                       C                   D                    E               F           G

Item No.

[1-Pack]

028-1610-6000

028-1611-6000

028-1612-6000

028-1613-6000

029-1610-6000

029-1611-6000

029-1612-6000

029-1619-6000

032-1613-6000

Bild:

Pic:

A
B
C
D
E
F
G
H
D

Typ:

Type:

A

F

C

G

B

D

E

-

G

Not.:

L: 185mm.

L: 210mm.

Ovanstående stag kan enbart användas i
kombination med våra M8 rörklamrar!

Rekommenderad stl. för rörklammer med ett(1)

stag/klammer: M8xø32.0 - M8xø125.0

Rekommenderad stl. för rörklammer med två(2)

stag/klammer: M8xø40.0 - M8xø125.0

Reparationsstag / Repair rod

För dämpare med fals / For muffl  er with folded seam

Artikel nr.

Item No.

029-1619-6000

Ytbehandling

Plating

Cr/Obh

Antal / Frp.

Pack Qty.

1

Item No.

[Bulk]

021-1662

021-1663

021-1660

021-1661

020-1662

020-1663

020-1660

020-1661

022-2660

011-1610

011-1611

011-1612

011-1240

Bild:

Pic:

A

B

C

D

E

F

G

H

I

J

K

L

M

Dimension mm. / Measurement mm.

L x B x H x Mtrl.tjocklek x Antal remmar

L x W x H x Mtrl. thickness x No. of straps

225.0x25.0x45.0x2.0x2 (9xø10.0)

113.0x25.0x45.0x2.0x2 (2xø10.0)

225.0x25.0x40.0x2.0x1 (9xø10.0)

113.0x25.0x40.0x2.0x1 (2xø10.0)

255.0x25.0x17.0x2.0x2 (9xø10.0)

145.0x25.0x17.0x2.0x2 (2xø10.0)

255.0x25.0x14.0x2.0x1 (9xø10.0)

145.0x25.0x14.0x2.0x2 (2xø10.0)

Klämma/Clamp: ø38.0 - ø64.0 (8xø10.0)

180.0x25.0x2.0 (8xø10.0, 1xø6.9)

67.0x25.0x2.0 (1xø10.0, 1xø6.9)

35.0x25.0x35.0x2.0 (1xø10.0, 1xø6.9)

60.0x25.0x5.0 (2xø6.0) 3-Lager/Layer

A C E G

B D F H

M K L J

Reparationsstag för rör & dämpare / Repair rods for pipe & silencer

Universal

I



51
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Rep.stag, medger justering både i sid & höjdled
Rep. rod, allows adjustment in both lateral & vertical direction

Universal

Artikel nr.
Item No.

031-2660-6000
031-2660-0380
031-2660-0400
031-2660-0420
031-2660-0450
031-2660-0480
031-2660-0500
031-2660-0520
031-2660-0540
031-2660-0580
031-2660-0600
031-2660-0640
031-2660-0670
031-2660-0700

Antal / Frp.

Pack Qty.

1

1

1

1

1

1

1

1

1

1

1

1

1

1

Ytbehandling
Plating

CrIII

CrIII

CrIII

CrIII

CrIII

CrIII

CrIII

CrIII

CrIII

CrIII

CrIII

CrIII

CrIII

CrIII

Typ
Type

F

F+S

F+S

F+S

F+S

F+S

F+S

F+S

F+S

F+S

F+S

F+S

F+S

F+S

M8
S

Whithout clamp

38.0

40.0

42.0

45.0

48.0

50.0

52.0

54.0

58.0

60.0

64.0

67.0

70.0

S  = Stl. / Size

M8

F



52
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

ø
(mm.)

M8x25  

M8x28 

M8x32  

M8x36 

M8x38 

M8x40

M8x42

M8x45

M8x48

M8x50

M8x52

M8x54

M8x58

M8x60

M8x64

M8x67

M8x70

M8x73

M8x76

M8x80

M8x83

M8x85

M8x90

M8x92

M8x95

M8x102

M8x106

M8x110

M8x115

M8x120

M8x125

M8x127

M8x130

M10x36

M10x38

M10x40

M10x42

M10x45

M10x48

M10x50

M10x52

M10x54

M10x58

M10x60

M10x64

M10x67

M10x70

M10x73

M10x75

M10x80

M10x83

M10x89

M10x92

M10x95 

M10x102

M10x106

M10x110

M10x115

M10x120

M10x125

M10x127

M10x130

M10x132

Type: A
Item No.

[2-pack]

025-4670

028-4670

032-4670

035-4670

038-4670

040-4670

042-4670

045-4670

048-4670

050-4670

051-4670

054-4670

057-4670

060-4670

064-4670

067-4670

070-4670

073-4670

076-4670

080-4670

083-4670

085-4670

089-4670

092-4670

095-4670

102-4670

106-4670

110-4670

115-4670

120-4670

125-4670

127-4670

130-4670

036-4770

038-4770

040-4770

042-4770

045-4770

048-4770

050-4770

052-4770

054-4770

058-4770

060-4770

064-4770

067-4770

070-4770

073-4770

075-4770

080-4770

083-4770

089-4770

092-4770

095-4770

102-4770

106-4770

110-4770

115-4770

120-4770

125-4770

127-4770

130-4770

132-4770

Type: A
Item No.

[10-pack]

025-4700

028-4700

032-4700

035-4700

038-4700

040-4700

042-4700

045-4700

048-4700

050-4700

051-4700

054-4700

057-4700

060-4700

064-4700

067-4700

070-4700

073-4700

076-4700

080-4700

083-4700

085-4700

089-4700

092-4700

095-4700

102-4700

106-4700

110-4700

115-4700

120-4700

125-4700

127-4700

130-4700

036-4750

038-4750

040-4750

042-4750

045-4750

048-4750

050-4750

052-4750

054-4750

058-4750

060-4750

064-4750

067-4750

070-4750

073-4750

075-4750

080-4750

083-4750

089-4750

092-4750

095-4750

102-4750

106-4750

110-4750

115-4750

120-4750

125-4750

127-4750

130-4750

132-4750

Min. qty.

[Bulk]

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

Type: A
Item No.

[Bulk]

025-4650

028-4650

032-4650

035-4650

038-4650

040-4650

042-4650

045-4650

048-4650

050-4650

051-4650

054-4650

057-4650

060-4650

064-4650

067-4650

070-4650

073-4650

076-4650

080-4650

083-4650

085-4650

089-4650

092-4650

095-4650

102-4650

106-4650

110-4650

115-4650

120-4650

125-4650

127-4650

130-4650

036-4800

038-4800

040-4800

042-4800

045-4800

048-4800

050-4800

052-4800

054-4800

058-4800

060-4800

064-4800

067-4800

070-4800

073-4800

075-4800

080-4800

083-4800

089-4800

092-4800

095-4800

102-4800

106-4800

110-4800

115-4800

120-4800

125-4800

127-4800

130-4800

132-4800

Type: U
Item No.

[Bulk]

025-3400

028-3400

032-3400

035-3400

038-3400

040-3400

042-3400

045-3400

048-3400

050-3400

051-3400

054-3400

057-3400

060-3400

064-3400

067-3400

070-3400

073-3400

076-3400

080-3400

083-3400

085-3400

089-3400

092-3400

095-3400

102-3400

106-3400

110-3400

115-3400

120-3400

125-3400

127-3400

130-3400

036-3450

038-3450

040-3450

042-3450

045-3450

048-3450

050-3450

052-3450

054-3450

058-3450

060-3450

064-3450

067-3450

070-3450

073-3450

075-3450

080-3450

083-3450

089-3450

092-3450

095-3450

102-3450

106-3450

110-3450

115-3550

120-3450

125-3450

127-3450

130-3450

132-3450

Type: B
Item No.

[Bulk]

025-3500

028-3500

032-3500

035-3500

038-3500

040-3500

042-3500

045-3500

048-3500

050-3500

051-3500

054-3500

057-3500

060-3500

064-3500

067-3500

070-3500

073-3500

076-3500

080-3500

083-3500

085-3500

089-3500

092-3500

095-3500

102-3500

106-3500

110-3500

115-3500

120-3500

125-3500

127-3500

130-3500

036-3550

038-3550

040-3550

042-3550

045-3550

048-3550

050-3550

052-3550

054-3550

058-3550

060-3550

064-3550

067-3550

070-3550

073-3550

075-3550

080-3550

083-3550

089-3550

092-3550

095-3550

102-3550

106-3550

110-3550

115-3550

120-3550

125-3550

127-3550

130-3550

132-3550

Item No.

[Bulk]

032-4210

360-4110

036-4210

038-4900

385-4110

041-4900

415-4110

042-4210

042-4900

425-4110

043-4900

445-4110

045-4210

045-4900

455-4110

467-4110

048-4210

048-4900

485-4110

490-4330

049-4900

227-4310

495-4110

050-4900

051-4210

051-4900

515-4110

052-4900

523-4110

053-4900

227-4331

535-4110

054-4900

543-4330

545-4110

055-4210

055-4900

555-4110

056-4210

056-4900

058-4210

058-4900

674-4310

585-4110

590-4330

595-4110

060-4900

605-4110

061-4210

625-4110

628-4330

645-4110

065-4210

228-4310

670-4110

670-4330

067-4210

067-4900

228-4311

700-4330

730-4330

797-4330

A (M8)

A (M10)

A (M10)

B U

ø
(mm.)

32.0

36.0

36.0

38.0  

38.5

41.0 

41.5

42.0  

42.0

42.5

43.0 

44.5

45.0

45.0 

45.5

46.7

48.0

48.0

48.5

49.0

49.0

49.0

49.5

50.0

51.0

51.0

51.5

52.0

52.3

53.0

53.0

53.5

54.0

54.3

54.5

55.0

55.0

55.5

56.0

56.0

58.0

58.0

58.0

58.5

59.0

59.5

60.0

60.5

61.0

62.5

62.8

64.5

65.0

66.0

67.0

67.0

67.0

67.0

69.0

70.0

73.0

79.7

Min. qty.

[Bulk]

50

25

50

10

25

10

25

50

10

25

10

25

50

10

25

25

50

10

25

25

10

10

25

10

50

10

25

10

25

10

10

25

10

25

25

50

10

25

50

10

50

10

10

25

25

25

10

25

50

25

25

25

50

10

25

25

50

10

10

25

25

25

Type:

REK

VWK

REK

FOK

VWK

FOK

VWK

REK

FOK

VWK

FOK

VWK

REK

FOK

VWK

VWK

REK

FOK

VWK

CVS

FOK

PSA

VWK

FOK

REK

FOK

VWK

FOK

VWK

FOK

PSA

VWK

FOK

CVS

VWK

REK

FOK

VWK

REK

FOK

REK

FOK

PSA

VWK

CVS

VWK

FOK

VWK

REK

VWK

CVS

VWK

REK

PSA

VWK

CVS

REK

FOK

PSA

CVS

CVS

CVS

Item No.

[Bulk]

036-2770

038-2770

040-2770

042-2770

045-2770

045-2771

046-2770

048-2770

048-2771

050-2770

050-2771

052-2770

052-2771

055-2772

055-2770

056-2771

056-2770

060-2771

060-2770

060-2772

065-2770

067-2770

Min. qty.

[Bulk]

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

øxØxL ±T 
(mm.)

36.0x40.5x95.0 ±5

38.0x42.5x95.0 ±5

40.0x44.5x90.0 ±5

42.0x46.7x100. ±5

45.0x49.5x95.0 ±5

45.0x49.5x120.0 ±5

46.0x50.5x90.0 ±5

48.0x52.5x100.0 ±5

48.0x52.5x125.0 ±5

50.0x54.5x95.0 ±5

50.0x54.5x125.0 ±5

52.0x56.5x90.0 ±5

52.0x56.5x125.0 ±5

55.0x59.5x80.0 ±5

55.0x59.5x95.0 ±5

56.0x60.5x95.0 ±5

56.0x60.5x125.0 ±5

60.0x64.5x80.0 ±5

60.0x64.5x95.0 ±5

60.0x64.5x120.0 ±5

65.0x69.5x125.0 ±5

67.0x71.5x80.0 ±5

Type:

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

VWS

FOK (M10)CVS

PSA REK

VWKVWS

Rörklammer och skarvrör / Pipe clamps and connectors

Universal, Ford, Renault, PSA, VAG, Volvo etc...



53
All dimensions are approximate due to diff erent manufacturing techniques and can be changed from time to time without prior notice. Car maker´s names and numbers are used for ref. purposes only.

Every eff ort has been made to ensure the information in this catalog is correct, but we can not be responsible for any losses arising from errors or omissions. All measurements are in mm. and weight

is in kg. Reproduced article does not necessarily conform to delivered article, as this can vary depending on material and design changes over time. Copyright © 2019- EibAB, Sweden (www.eibab.se)

Managing editor: Kjell Niemeyer

Bromsdelar / Brake parts

Volvo

3-delade avgasfl änsar / 3-Devided Repl. fl anges

Volvo & Universal

897-5971                                                                                                          Made in Sweden by eibab.se

 
 

1

P

Cable link and cable 

bracket for the hand-

bracke

For Volvo 700 and 

900 ONLY!

Art. nr. / Item No:

897-2840-6000

Item No.

[1-Pack]

707-1570-6000

891-1570-6000

899-1570-6000

Bild:

Pic:

A

B

C

Benämning & mått

Discription & Measurements

Saab (79-93)

ø52.0mm.

Volvo 240, 740, 760, 940

(NOT for Turbo engine!)
ø58.0mm.

Volvo 240, 740, 760, 940

(Turbo engine only!)
ø62.0mm.

A B C


